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You have

Sean checks his gas meter reading. The meter reading is shown below.

BREEBOH

1. What is the reading on the meter rounded to the nearest thousand?

(L

2. He checks the reading again six months later. It has increased by 842.

What is the new meter reading?

Lisa is reading a book. The number of pages she reads
each day in one week is shown in a bar chart.

" n

Number of pages
P

21 '
M Tu W Th F Sa Su
Day of the week

3. How many pages of the book does Lisa read at the weekend?

4. The date on the Monday is 29th April.
How many pages does Lisa read on 3rd May?
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5. Whatis the volume of a cube with sides of length 5 cm?

Circle the correct option.

A 25cm3
B 125cm?
C 100cm?
D 15cm?
E 50cm?

Kevin buys a box of corn flakes for £1.40 and some chocolate for £1.50.
Using these ingredients, he makes corn flake cakes, and sells them for £1 each.

6.  What's the smallest number of cakes Kevin has to sell in order to make a profit?

7. If Kevin sells ten corn flake cakes, how much profit does he make?

0

8. Each cake is made with 20 g of corn flakes and 15 g of chocolate.
What is the total mass of 60 corn flake cakes? Circle the correct option.

A 28000g
B 21kg
C 1.8kg

D 2400¢g
E 240g

9. What is the sum of the only two prime numbers between 50 and 60?

L)

1
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A

B 15><30<30><15

c 20x25=10x125

D 18 x 24 =9 x 48

E 45x1000>900x100

11. A sequence starts T, 5,21, 85, ‘ |
Eachqterm is found by multiplying the previous term by 4 and adding on 1.

Which of these numbers does not appear in the sequence?
Circle the correct option.

A 341

B 1365
C 5461
D 21845
E 87318

12. Jane uses the formula £ = 8x + 3 to work out how much money
she earns in a day, where E is her earnings in pounds and x is
the number of hours worked.

One day she earned £91.

How many hours did she work that day? m
hours

()

Test 1 tocop;
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. On the coordinate grid, point P is moved 7 squares right and 2 squar

FA

8

6{ e

2-

02 4 6 8+

What are the new coordinates of point P?

160523
22864
797617.5
8926.53
60.0849

One of the angles in a right-angled triangle is 72°.

es down.

()

In which of the following numbers does the 6 have the smallest value?

Circle the correct option.

Which of the following is also an angle in the triangle? Circle the correct option.

2,
A
B
C
D
E
K 8
A
B
C
D
E

CGP — not to be photocopied

18°
108°
96°
26°
38°
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n his desk. The lengths of the pencils are listag b
€lo

16cm, 6¢m, 7cm, 3 cm W,

p has eight pencils 0

Sundee

7¢cm, 12 cm,

o order of increasing length, starting

~ Sundeep arranges the pencils i
4. Sundeep arrang hat is the length of the pencil which

with the shortest on the left. W

i< fourth from the right?
L1,

ree longest pencils.

5. He then picks up the tl
h of these three pencils?

What is the mean lengt
m

6. Dr.Kapurhasas litre j
jug of water. She pours half on her pl
_ ant i
1600 ml to patients. How much water is left? Circle the czrrecilotgg s
ion.

A 900 ml -
8l :
1100 ml

B 133 D 2400 ml

JU“E is watch'n a tilm Af
(o] O‘ lhe “lm

7. What is the
t
otal length of the film? Circle the co
rrect option.

A 2hours 10 minutes
B 3 hours 10 minutes
C 2 hours 45 Minutes
D 1hour4g Minutes

E 2hours 29 Minutes

8. Julie sta
rts watchin X

She Pauses the f”mgf:)hresﬂlm at ]3:45

m :

What time ¢ in
Ci 0es she fin: utes halfy,
V€ your answer i ézl-sironvatchin theaf)i'lrtl:l?rough, to make a cup of tea.
r .

Test 2
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9. Tony’s lasagne recipe is for 12 people, and needs 800 ml of tomato sauce.
If Tony makes a lasagne for 18 people, how much tomato sauce does he need?

(T

10. James wants to run at least 500 m by doing laps
around the perimeter of a park, shown below.

ﬁ - 50 m .
30 m Park
¢ not to scale
What is the smallest number of whole laps that he must run? CIj

11. If 4(x + 5) = 44, what is x? Circle the correct option.

A 8 C o6 E 7
B 11 D 35

12. Atriangle has sides with lengths a, b and c.

J T

c

Which of the following statements is definitely not true? Circle the correct option.

A a+b>c

B c¢c+b6=18

C b>a+c

D O<b+a C /12)
E a<b<c

GP — not to be photocopied 7 Test 2




You have 10 mi

Gerard sells four types of

nutes to do this test. Work as quickly and accurately ag You cay

dwich in his cafe. :
san of sandwich sold on one day in a pictogran,

He records the number of each type
-
W Amount sold m
Piccalill j : 7 T
Ham and cheese | N
BLT D
Egg mayo D

alilli sandwiches were sold than BLT on that day?

Gerard's profit from selling each ham and cheese sandwich is £1.50.
How much does he make from selling ham and cheese sandwiches that day?

anes

How many more picc

Which of the following is the smallest? Circle the correct option.

A 4% C 3/1 - E 1/20
B 0.65 D 0.065

An empty steel bucket has a mass of 850 g. When it is filled with sand,

it has a mass of 16.2 kg. What i
. £ KB. tisth : ket?
Circle the correct option. e total mass of the sand in the buc

A
B e ¢ 170508 E 146508
15350 g D 169504
Test 3 . oGP — o0 be photocoP'j
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5. Tifah makes a cube with sides of length 2 cm out of card. What is the area
of the net that she needs to make the cube? Circle the correct option.

A 8cm?

B 16cm?
C 20cm?
D 24cm?
E 32cm?

6. Chris leaves his house, and is out for four hours and twenty minutes,
before arriving back at his house at 7:15 pm. At what time did he leave his house?

m:mpm

7. Jonah has a bag with red balls and blue balls. The bag contains twice as many
red balls as blue balls. What fraction of balls in the bag are blue?
Circle the correct option.

A 5 C 2 E 3,
B '/ D %
8.
X
216° not drawn
49° 313 accurately
f What is the size of angle x? [ l I JO

9. Whatis 49 x 138 -37 x 492 { I I I]

Test 3

?,EC CGP — not to be photocopied 9
é"



A sequence is made by joining together squares with sides of length 1.

Shape 1 Shape 2 Shape 3 Shape 4
Perimeter = 4 Perimeter =6 Perimeter = 8 Perimeter = 19

10. Which expression gives the perimeter of the nth shape? Circle the correct option,

A  4n C 3n+4 E 2n+2
B 4n-1 D 3n+1

11. What is the perimeter of Shape 94? CD:]

|
|
l
|
\
|
|
|

12. T INEERNE .fﬁ;;"; “J
Cobog b SRR
s Bt 1
o O B N = i
»w 61 S e T
= — e T 1T .
I | S U A N .
3 4 EESNERENE
Q. ; : 1 ‘ /? f _f ;!
2141 T T
V% . e et s s R (e S e e s e 2
l T . L l - 1 - l . T >

0 2 4 6 8 10 12 14

Dollars ($)

Rachel has £8. Simon has $12. Who has more money, and by how much?
Use the conversion graph to give an estimate. Circle the correct option.

A Rachel has about $0.40 more than Simon.
B  Rachel has about $0.80 more than Simon.
C Rachel has about £1.50 more than Simon.
D  Simon has about $2.50 more than Rachel.
E  Simon has about £0.20 more than Rachel.

()

10 © CGP — not to be photOCOPie‘ :
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

The peak temperature in Vanville one year was 18 °C. The lowest temperature in
the same year was -25 °C. What was the difference between the highest and

lowest temperatures in Vanville that year?
([

Which number is a factor of both 48 and 27?2 Circle the correct option.
A

m g O =
© N B W

The heights of Janet's plants are 19 cm, 25 cm, 28 cm and 32 cm.
What is the mean height of Janet’s plants?

an

The sizes of three of the angles in a quadrilateral are 47°, 133° and 95°.
What is the size of the missing angle? Circle the correct option.

108°

85°

25°

125°

90°

mgoOwWw >

ek Lot S

)
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. ' ‘ | I 2 1()\v.

14 cm
Jon,
; 1 not to scale
cm
—5m

Cryl
6. A company has crates that weigh 14.68 kg each. A shipping COntaingr ¢y, holg |
1024 crates. What is the total weight of the crates in one fy]| Container? |
Circle the correct option.
A 351912k
B 1503232k
C 525108k
D 1174932k |
E 2052654 |
The prices of some of the items go|q i
ms sold in a DIy shop are shown below.
—
7. Teny DUYS 2 ham d Di’s DIY Shop
, and 50 nails from Dy £2.50
M Much change does he g from £1 0?| >DIY Shop. o

50
Screwdriver £

£m [ : 10 nails ‘)

8. June getg
A10%, 150
Ount .
ow ; 9
Much doeg s ft;vre;ythmg €XCept nails,

i ?
fIVer, 30 nails and a hammer?

s

" ,.,'OP!



A shop owner claims that the numbe
: ;i-;nnlmle the number he sold on Friday
L

354

r of eggs he sold on sunday is more than
- He uses the chart below to back up his claim

Number of

eggs sold
> S
&€ i

- N
o O
!

“m
W Th F Sa Sy M Tu
Day

Why is the chart misleading? Circle the correct option,

A Its hard to read the number of eggs sold.

The numbers don't start at 0.
The days don't start on Monday.
The shop is probably o

pen for less time on 3 Sunday.
The numbers should g

Oupin 1sor 2s.

10. If the overlapping area is 9 cm?, what is the area of the logo?

cm?

(] en

: d
g out hats at her birthday party. She has five each of red, blue an

is given a
The first person is given a blue hat, and the second person is g
What fraction of the re

1. What is the perimeter of the logo?

12, Sofiais givin
green hats,
green hat.

maining hats are red?
Circle the correct option.
A Y C S E s /12
B 3, D 4

Test 4
<GP — ot to be photocopied 13



10 minutes to do this test Work as quickly and acCurately 54
e

Oy Can

You hav

1 Use estimating to find 67 132 + 9840.78 + 812.5. Circle the Correct -

A 17306878
B 7778528
C 1663523
D
E

107 504.6
2467.898

2. In one season, a football team plays 60 matches. They draw 15% of the:
How many matches does the team draw? their Matche,

Mel goes fell-running one day. The graph below shows her distance from ho
me,

-—X—LN
SRR

Distance (km)

12345678 9101
Hour

A 30 minutes C
B 1 hour

14 © CGP—n



=568 ml Ashop only sells milk in 1 pint cartons. |
many cartons would you need to buy to get at least 6 litres of milk?

e

6. Mrs Rogers has stickers in different shapes. She has four square stickers,
three triangle stickers and one heart sticker.

What fraction of all her stickers are square? Circle the correct option.

A % B O % 23 Eialy,

4

A swimming pool has a diving board that is 350 cm above the surface
~ of the water. The depth of the pool is 4.6 m. What is the distance,
in metres, between the diving board and the bottom of the pool?

LR ).

and 2 are both made from identical regular hexagons.
1, the white space in the middle of the 3 hexagons has an area of 8 cm?.

Test 5




. 2,
9. The test scores of Mr Colin’s class are: 8, 21, 2

What is the mean of these scores?

The diagram shows three angles on a straight line.

3, 68 -
10.  What is the size of angle x? m .
1. Asetof angles all the same size as angle x are put around a point.
How many will fit without overlapping? Q
!

12, An unfair dice is rolled 36 times. The frequency that each number

is rolled is shown in the pie chart.

How many times does the dice land on an odd number? Circle the correct option.

A

moeA ®

Test 5

4
6

10
12
18

16

i

/12
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Puzzles 1

Time for a break! These puzzles are a great way to practise your maths skills.

P
oS

Moon, Star, Diamond, Circle

Each shape has a whole number value. Work out the value of each shape,
and write the sum of each row and column in the box at the end.

2 = ® e )
DD D| D3
oo * ¢ @ K| ¢
®-_ *| D%k

24 26

- Larry's Test

| Larry’s class does a test marked out of 100.
- Al e scores except Larry’s are shown here:

83, 88, 76, 44, 28, ?
Larry’s score be if:

Puzzles 1



' 2
of quadrilaterals t0 non-quadrilaterals?
ts simplest form.

1. Whatis the ratio o q
' Give your answer in'l

fraction of the shapes are triangles? Circle the correct answer.
2. Whattrac

A Y

B
C 4
D

E

Daphne bought a painting at an antiques fair for £635.
She sold it one month later for £990,

£

3. How much profit did she make? g |

vDs

kD Pﬂlﬂ‘ .
4. Daphne uses hey brofit to buy blank DVDs. A box of 10 blan ing 1

. sel ‘
How many blank DVDs can Daphne buy with her profit from I

ik
COSIS ‘,.'1 \




yiangle has one angle of 51° and one angle of 72°,
th;t is the size of the triangle’s third angle? Circle the correct answer

A 51° B 72° C 123° D 57° E 237°

The diagram shows the plan of a concrete platform.

50 m

e

20m

20m
10mI

What is the area of the platform?

L

Pete delivers newspapers. The table below shows the number of newspapers
he delivered each day during one week. One of the values is missing.

CCep

‘“- not to be photocopied 19

Mon | Tue | Wed | Thu Fri Sat Sun
15 15 16 14 30 40

One in ten of the newspapers that Pete delivered that week were delivered

on Thursday. How many newspapers did he deliver on Friday? [I]
\}that Percentage of the whole week’s newspapers did

ete deliver on Saturday and Sunday combined? gj %
\(;V?at was the mean number of newspapers he

elivered during the week shown? ED

Test 6



- he beach,
dijogstot :
T o home at 0 3})3{32} Ji)ggmg home again,

ing her j
hie sets off T h to rest e from home during JOurney.
| 5;)P then sits 0" ¢ hows her distan
Sue ws T
The graph belo T T T T T ?:m?_wy
fun

2o I ERNENN

7 7 T T T LT )

A R A A

Time (minutes)

k home.
Circle the time that she sets off back ho

A 0915
B 09:45
C 10:00
D 10:15
E 1030

1. Whatis the sixth term in the sequence shown?

73,71,68, 64,

12, My Stark has o jars of Swe i

Atth on his des
rStZiarf\,oefstgew " Containg g Sweets

Circle the CHpresion "ng the course of the week
€ has [ef i Wshows the ¢ tal number of sweets
A 30y ek
B 254
€ 2.5y,
D 305 28
E 2 ik

{




you ha

10 minutes to do this test. Work as quickly and accurately as you cap,
ve

+ rooular heptagon has sides of length 120 mm.
C\thgt is the heptagon’s perimeter?

O m

7 Look at the diagram below.
~

Circle the best estimate for the size of angle x from the options below.
A 100° B 30°

C 230° D 150° E 330°
3. Mikael walks 740 m to the bus stop. He travels 2.5 km on the bus,
and then walks another 120 m to his grandparents’ house.
How far has he travelled altogether, in km? Circle the correct answer,
A 8625km B 3.2km C 336km D 1011km E 11.1km

4. Patty is thinkin

g of a number. She subtracts 6 a
b The result is 9

nd multiplies the result by 8.
6. What number was she thinkin

g of?

5. Brian buys a microwave from a supermarket for £70.
The following week, the supermarket has a sale on electrical items.
The microwave i reduced by 15%. How much money would
Brian have saved if he had bought the microwave in the sale?

000

| ‘ Test 7
d Ocep not to be photocopied 21
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-
-

6. The diagram shows a metal container in the shape of a cuboid.

6m

15m

10m

A builder pours cement into the container until it is 1/ full.

What is the volume of cement in the container?
(L

Mrs Ormerod asked the members of her class to name their favourite fish.
She recorded the results in the pie chart shown below.

Haddock

Four members of her class said that tuna was their favourite.

7. How many members of her class said that trout was their favourite?

8. How many said that either mackerel or haddock was their favourite?

L]
L

9. The nth term in a sequence is given by the formula 20 - 4n.

What is the fifth term in the sequence? Uj

fest 7 22 © CGP — not to be photocopf




o chart below shows the number of games won by
h player in a snooker tournament.
eaC

10}

e

e

N A OO

Tim ' Sue " Mel "Kym " ice T Jen T

10. How many games were won by the person who came third
in the tournament?

11. Which three players won a combined total

number of games which was the same
as the number of games won by Ice? Circle the correct answer.

A Tim, Sue and Mel
Tim, Sue and Kym
Sue, Mel and Kym
Sue, Kym and Jen
Mel, Kym and Jen

m g 0O W

12. Simone and Callum are collecting conkers.
Between them, they have collected a total of 29 conkers.
Which of the following statements could be true? Circle the appropriate letter.

Callum and Simone have each collected the same number of conkers.
Callum has collected half as many conkers as Simone.

Callum and Simone have each collected an even number of conkers.
Callum and Simone have each collected an odd number of conkers.
Callum has collected one more conker than Simone.

mgoOw >

=D

Test 7

©CGP — not to be photocopied 23
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You have 10 minutes to do this tes

1. Circle the most suitable unit for measurin i 1
m
A mi B m’ C m

2. Sutinder wraps china cups in news
One newspaper can wrap up 7 cups-
How many newspapers does Sutinder nee

Lizzy is drawing a table to show the number of sandwiches sold

in a cafe one lunchtime. She has filled in part of the table.

g the depth of a well.

paper to storé in his attic.

d to wrap 161 cups?

White Bread | Brown Bread Total
Cheese 12
Turkey 16 35
Total 80

3. How many people chose cheese on brown bread?

4. What fraction of the people chose turkey on brown bread?

Circle the correct answer.

A B 4 C % D /%

Test 8 24

t. Work as quickly and accurately as yq,, -

mm

© CGP — not to be phnm\."



. The shape below is reflected in the dotted mirror line
. .

The shape and its reflection together make a ne

Circle the name of the new shape.

A Pentagon
B Hexagon

C Quadrilateral
D Octagon

w shape.

E Heptagon

. The pictogram shows the number of albums owned by three music fans.

Jeff

Beth

Noel

OO0

N
O
O

Q
G

O = 20 albums

6. How many more albums does Noel own than Jeff?

of albums as Jeff and Beth put together.

What is the mean number of albums owned by the three music fans now?

oot © CGP — not to be photocopied

§

25

L)

%5 of Beth’s albums are heavy metal albums. How many albums is this?

BEl

Noel goes out and buys some new albums, so that he owns the same number

L

Test 8



Prw

&
& 5

9. Look at the diagram shown below.

5%)’

I
N4

-5

Which of these points is outside the shaded shape? Circle the correct answer.
A (-2, 0) B (1,-1) C (-5,5) D (0, -3) E (4,0)

10. The diagram below shows a rectangle attached to a right-angled triangle.

D
a

515

What is the size of angle a? [ I I ]

Alicia is a taxi driver. She charges a flat rate of £4 per journey,
plus 80p per mile travelled.

11. Circle the formula which gives the amount, 4, she would charge
in pounds for a journey of d miles.

A 4=44+0.8 C A=4.80d E 4=4+0.84
B 4=4+80d D 4=480+d

12. How much would she charge for a 15 mile journey?

L -

Test 8 26 © CGP — not to be photoc®’
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You have 10 minutes to do this test. Work as quickly and accurately as you can

The timetable below shows the times that a bus stops in five different towns.
The bus always runs exactly on time.

Flarehaven Poolton Leveleys Livham Vansdell
0900 0946 1021 1059 1132

1. Charles gets on the bus in Poolton.
How long, in minutes, does it take him to get to Vansdel|?

2. Denise gets on the bus in one town. 35 minutes later, she gets off the
bus in another town. Between which two towns did she travel?
Circle the correct answer.

A Poolton and Leveleys D Leveleys and Livham

B Leveleys and Vansdell E Livham and Vansdell
C Poolton and Livham

3. Circle the shape below which is not the same as the others when rotated.

A C | E

5 CGP — not to be photocopied 27 Test 9



4. Which of the angles below is obtuse? Circle the correct answer.

A___;' BA::: c\&—— DL— EA

5. A stalactite increases in length at a rate of 2 mm per year. Circle the number
of years it will take to increase from a length of 20 cm to a length of 29 cm.

A 4.5 years D 4500 years
B 45 years E 45 000 years
C 450 years

6. What is the angle of the ‘Amber’ section in the pie chart shown?

Not drawn accurately

L

A farmer uses 45 kg of hay to feed five horses for one day.

7. How many kilograms of hay would she need to feed 8 horses for one day,

if each horse eats the same amount of hay?
L Je

8. How many horses could she feed for one day with 135 kg of hay?

Test 9 28 © CGP — not to be photOCOP"ed |



gix balls, labelled A-F, are placed in a hat. A num

out a ball at random. ‘The ball is then replaced. The graph shows the number of
iimes each ball was picked.
10 e e e e e e e,
8 - e — R
F nc ol “w
requency 41— ' S
A E— -
oL —|
A B

C D E F
Letter on Ball
9. What fraction of the people picked the ball marked ‘D

? Circle the correct answer.
A Vs B %, C Yy

D 3, E 7o

10. Bethany is drawing a pie chart to show this data.
What angle should she use for the ‘E’ sector?

(0

11. Joan is stacking boxes in a pile. Each box is a cuboid with a height of 15 cm
and a mass of 0.2 kg. Joan stacks the boxes to a total height of 240 cm.

What is the total mass of the stack of boxes?
LI ke

12. Raj is thinking of a number. He divides it by 2, subtracts 15, and then multiplies

the result by 8. Which of the following expressions shows the result if the number
he started with was x? Circle the correct answer.

A x+2-15x8

B (x-15)+2x38

C xx8+2-15

D x+(2-15x8)
§ E 8x+2-15) ( /12)
v © CGP — not to be photocopied 29 Testd



i atel
You have 10 minutes to do this test. Work as quickly and accurately as you cay,

1.

. . 2
How much change does he receive, in pence:

i £2 coin.
Ricky buys 3 bags of crisps for 37p each. He pays with a oin

i th
A quadrilateral has two sides of length 23 cm and two sides of length 30 cm,

It contains three angles of size 81°.

2. What is the quadrilateral’s perimeter?

3. What is the size of the quadrilateral's fourth angle?

George carries out a survey. He asks a group of people to say how many fizzy drinks

they each consumed during one week. The pie chart shows the results.

4. What was the most common response?
Circle the correct answer.
Al B 2 C 3 D 4 E 5 F
D

There were 36 people in the survey.
How many of them only had 1 fizzy drink during that week?

Test 10 30
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Look at the sequence of patterns below.

Pattern 1 Pattern 2 Pattern 3
o o] ©
000 000
co0o

How many dots will there be in the sixth pattern?

Pattern 4

0000

000
000

L)

The graph below shows how the temperature of a chemical changed over

e during an experiment.

tim
10
o 8
| N
e 2t \¥\
0 20 40 60 80 100

Time (s)

7. After how many seconds did the chemical reach
its highest temperature?

120

s

8. Jeffrey writes down the temperature of the chemical 10 seconds

and 20 seconds after the start of the experiment.

What is the difference between the two temperatures

he writes down?

€GP — not to be photocopied 31
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The table shows the finishing times, in seconds, of the runners ina 100 m Sprint,

Dinah | Tabby | Pam | Debbie Moirah Jill Sun%
13

15.45 14.97 15.21 15.12 15.35 16.01 16

9.  Circle the option which correctly shows the first, second and third placed finigh,,
Sherg

A First Place: Tabby Second Place: Pam Third Place: Debhhjg
B  First Place: Jill Second Place: Debbie Third Place: Summg,
C  First Place: Tabby Second Place: Jill Third Place: Summg,
D  First Place: Debbie  Second Place: Pam Third Place: Moirah,
E  First Place: Tabby Second Place: Debbie  Third Place: Pam

10. What was the time difference between the quickest

and slowest finishing times? @Q
'S

The cost of hiring a floorboard sander from Sandra’s Sanders is £60 per day.
There is also a one-off hire fee of £150, which covers the whole rental period.

11. Circle the expression which shows the total cost,
in pounds, of hiring the sander for n days.

A 60+ 150n

B 210n

C 210+n
D 150+ 60n
E 150x60n

12. A rival company, Super Sanderz, charges a one-off fee of £60,
plus £80 per day to hire the sander.

Pat wants to hire a sander for four days.
How much cheaper would it be to hire a sander from

Super Sanderz than Sandra’s Sanders? £ DI

/12
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Puzzles 2

puzzles are a great way to practise your maths skills.

| Bla(}kboal"d BluﬂS 10—5 =I5

Look at the calculations written on I11+1 = 3
the blackboard. A

Can you add one straight line to each L7 1A
calculation to make them correct? chilhe o

Hint: You can add the straight
line to any part of the calculation
— symbol or number.

ol g Straws

The picture below shows nine identical straws
arranged to make three equilateral triangles.

Starting with the shape shown, what is the minimum number of moves
it would take to rearrange the straws into the following shapes?

m Four equilateral triangles move(s)
® Two equilateral triangles move(s)
= One equilateral triangle move(s)

(Repositioning one straw counts as a move.)

Puzzles 2




You have 10 minutes to do this test. Work as quickly

1. Which of these arrows is pointing to 1.24 Circle th

.hm

and accurately as vqq Can

e correct answer.

E
13

Til 1i| i {

2. This map shows some of the rides at a funfair.

=

Ya
8 T T
Ghost tram ' B H'eller skener !
. - ! b b |
6 — ,-_.} TS NN (SO . S 3 ,-__l————*— - 4: _1.
“Ferris wheel| B i Dodgem j
4""‘-1{"1"0”' I .-
SO ..;..Mi. R - ‘{
oo =
21+ —— ,,.-.,.‘h.
! | A , }
._..,.L S, S | SN U SUNN S S |
S S Teacups | .
0 2 4 6 8 10 12X

Craig stands at (7, 4), facing north. He turns 90° anticlockwise.

What can he see? Circle the correct answer.

A Ghost train

B  Helter skelter
C Ferris wheel
D Dodgems

E Teacups

3. Ellie buys four bags of flour for £1.20 each. She pays with a £10 note.

How much change does she get?

Test 11 34
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Harvey drew the net of a cube of side length 10 cmon a sheet of card, as Shown

8. What is the area of the original sheet of card? E:I:

A s a«fl, E gV,
B Yo D '

10. The mean of five numbers is 180. Four of the numbers are
155, 162, 190 and 198. What is the fifth number?

Alice is 4 years old. Barney is twice as old as Alice.
Charlene is 4 years younger than Barney.

11. Which of these expressions represents Charlene’s age?
Circle the correct answer.
_A A4-2 C 24+4 E 24-4
B 4-24 D 24-4)

dad is three tlmes as old as her.
d ; HOW Q&d 15
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. 1562 litres of a new brand of perfume costs £73 414 to make.
How much does it cost to make 15.62 litres of the perfume, in pounds?

L LI

Martina makes the two shapes shown below using identical tiles.
The tiles are equilateral triangles.

Shape 1 Shape 2
2. Shape 1 has a perimeter of 30 cm. What is the perimeter of Shape 2?

L Jem
U

3. Write the perimeter of Shape 2 to the perimeter of Shape 1
as a ratio in its simplest form.

4. In a ‘tallest sunflower’ competition, the winning sunflower was 5.76 m tall.
The shortest flower in the competition was 2.89 m shorter than the winner.

How tall was the shortest sunflower in the competition? Circle the correct answer.

A 273m C 287m E 3.13m
B 283m D 289m
1 ©CGP — not to be photocopied 37 Test 12
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ian we icking.
5. Penny and Brian went apple picking.
5 penny collected 1.7 kg of apples. Brian collected 1550 g of apples

How many kilograms of apples did they collect between them?

ANy
Cecilia, Paul and Art made 12 sandwiches.

Cecilia ate %1, of the sandwiches. Paul ate '/ of the sandwiches. Art ate the regt

6. How many sandwiches did Art eat? Circle the correct answer,
A 4 B 5 C 6 D 7 E 38

7. They also made 4 litres of lemonade. Cecilia drank 25% of the lemonade,
Paul and Art drank the rest. If Paul drank twice as much as Art, how much
did Art drink? Circle the correct answer.

A 1 litres

B 2 litres

C  2.25 litres
D 2.5 litres
E 3 litres

8.  This design has been made with identically-sized grey and white squares

How many lines of symmetry does the design have? [

ott
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; 9. A group of friends won £6000 in a competition.
They shared the money equally, and each person received £750.

How many friends were there in the group? Circle the correct answer.
A 5 B 6 cC 7 D 8 E 9

This graph shows the progress of a charity fundraising campaign.
The total amount raised since the start of the campaign was recorded at
the end of each week. They stopped when they reached their target of £4000.

Total Amount Raised

= 10. How much money was raised during the fourth week? Circle the correct answer.

A £400 C £800 E £2100
B £600 D £900

- 11, 1f each week they raised the same amount as they did in the first week,
after how many full weeks would they have passed their target?

| L T

- 12, The first five numbers in a sequence are: 100, 98, 94, 88, 80.

What will the seventh number in the sequence be?

o 0

1

|

sCGP’ — not to be photocopied 39 Test 12
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i
"!1’? j #
S

You have 10 minutes to do this test. Work as quickly and aCCurately 4

1. Agroup of people were asked which of ;ix ani:eﬂs w(l)u|d mak
| ows the results
for their local football team. The chart s of the Survey

A
20 —
i
|
L :
23014 I i
|| |} | ]
Frequency 8 . { b &
¢t : 24
4 TR e B
LK 3 : : : ,‘,“‘:—i
.- - % ] LI ! 4
0

Ape Bee Cat Duck Emu Fox

Animal

How many more people answered ‘Ape’ than answered ‘Duck’?

Six competitors took part in a paper aeroplane throwing competition.
The tables below show the distance each competitor’s aeroplane flew.

Qy Can‘
€ the beg

2. The competitors were ranked by their distance, from longest to shortest

Who threw the next longest distance after Cooper? Circle the correc
A Abigail C E Zora
B Alexei D Dina

3. The winner gets £5 for each

metre thei
to the nearest metre. Hoy eir plane flew, rounded

much did the winner get?

h
Tact 172 ,;fnbep

Name Distance Name Distangej
Abigail 18.48 m Li 18.04m
Alexei 1789 m Dina 17.9m
Cooper 18.25 m Zora 18.31Mm _—

mastot ;‘

8l

t answer




4. Belld’ i
lfeeaaca l;)leshhal\ée Iold 57 eggs. She puts the eggs into egg boxes.
olds six eggs, how many boxes will Bella need? m

5. Clivebuys5.5m of copper wire. He uses 75 cm of the wire.

How much wire is left? Circle the correct answer.

A 43 m
B 455m
C 46m
D 4.75m
E 5.15m

6. Amber buys a hatina sale. The hat normally costs £18, but the price
ost in the sale?

has been reduced by 10%. How much does the hat ¢
L

ive times during a single day.

d the temperature in his garden f
oC, 27 °C, 27 °C and 18 °C.

corded were 14 °C, 24
true? Circle the correct answer.

7. Rudy recorde
The temperatures he re

Which of the following statements is
A The difference between the hottest an
The maximum temperature was 24 °C.

The third-coldest temperature was 24 °C.
mmon temperature he recorded was 24 °C

d coldest temperatures was 24 °C.

The most CO
The minimum temperature was 24 °C.

m g O ®=

8. Jenny walked once around the perimeter of a r
ect :
walked 2650 m. The length of the field is 850 nf a\r/]\/g:zi?rjgﬂfhlj l,g t;)tal, she
width of the field?

3
| 0.
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. : v? Circle th
9. What is the size of angle x in the triangle below? Cir € Correct gy,

65° 30

A 30° B 35° C 65° D 85° E 1150

10. 3m -7 =20. What is the value of m?

Lloyd draws the following sketch to show the coordinates of three corners of 5 thomp,
5

YA
(8, 11)

K (13, 8)

(8, 9)

0 "x
11. What are the coordinates of point K?

(.00

Lloyd then draws a horizontal line from K to (13, 8), splitting the rhombus

into two triangles. He uses these triangles to find the area of the rhombus.
What is the area he calculates? Circle the correct option.

A 8 C 30 E 64

o
42 © CGP — not to be phote™
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Lt 2

£ E ]

. . . ? .
9. What is the size of angle x in the triangle below? Circle the Correct ang,
&

65° 30°

A 30° B 35° C 65° D 85° E 1150

10. 3m -7 =20. What is the value of m?

el

Lloyd draws the following sketch to show the coordinates of three corners of afht

YA
(8, 11)

K (13, 8)

(8, 5)

"
0

9 4

11. What are the coordinates of point K? @ [j

12. Lloyd then draws a horizonty| line from K to (13, 8), splitting the f ot

{R/tﬁatt‘?tg'angles- He uses these triangles to find the area of the oM
€ area he calculateg? Circle the correct option.

A 8

S C 30 E 64 C
D 56

po*

to b

Test 13 £ 10
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You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. Joel is collecting football stickers. There are 121 to collect, and so far
he has collected 37. How many more stickers are there for him to collect?

(]

2. How many acute angles are there inside a regular pentagon? D

This pictogram shows the number of pupils in each of six classes in a school.

Cclass1 | ©O0O“ Key
class2 @000 0(¢ © = 4 pupils
class3 | OO0 O
Class4 | ©OO0000
Class5 | OO0O0€
Class6 | ODO0C0@

3, The two smallest classes are combined for a school trip.
How many pupils are there in the combined group?

4. '/, of the pupils in Class 4 get ill and can’t go on the school trip.
How many pupils from Class 4 do go on the trip?

L]
ua

@ CQP ~ not to be photocopied 43 Test 14



6.

7.

8.

Test 14

: 23/ ? ';'
Which of the following 15 equal 0"/
Circle the correct answer.

A 53 B

film at 14:45. The film lasts for 142 minutes, |
hen the film ends? Give your answer in 24-hoyr o |
Orm

00,

Harriet makes some purple paint by mixing 1.75 litres of red paint
with 480 ml of blue paint and 710 ml of white paint.

Joey starts watcl_wing a
\hat time will it be W

How many litres of purple paint does she end up with? Circle the correct answe, |

A 2.94 litres
1.365 litres
2.79 litres
3.24 litres
2.59 litres

What is the volume of this cuboid?

2.5¢cm l\
“\““‘**/6(;"1
4 cm




9. Suzy di\./ides.a circle into four equally-sized sections. She then divides two of
the sections in half. She uses her circle to create the spinner shown below.

What fraction of the whole spinner is made up of star sections?
Circle the correct answer

A s B c ¥ D E s

. Joan went on holiday. On the second day she took 133 photos.
" On the third day she took 53 photos. On the fourth and final
day she took as many photos as in the first 3 days put together.

10.  In total, Joan took 400 photos during her holiday.

What was the mean number of photos she took per day? m

11.  How many photos did she take during the first day?

| 12. The first four patterns in a sequence are shown below.

How many squares will there be in the eighth pattern in the sequence?

L]
)

45 Test 14
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Oy Can

\UU]

below is reflected in the mirror line,
noe Z

1. The parallelogram show

b
10
, 9
... 61
- L1
I B BS BS
i i L:l‘a -
! Jq‘,_ MU -
-10-]9-;-%-6-5-4—3-2-10 12345678 910x |

What are the coordinates of the reflection of point FZ Circle the correct answey

A (-7,4) C 2,4 E (2,4
B (44 D (4, -4)

2. What number is 9 less than -13? Circle the correct option.
A 22 B 4 C 4 D 6 E 22

Seats have been put out in a school hall, ready for a concert.
There are 9 rows of 10 seats and 8 rows of 15 seats.

3. How many seats have been set out in total? ﬁ i
s

4. The school has a total of 300 seats,
What percentage of the seats have been set out?

i3
oo §
Test 15 46 ©CCP— ot to be P
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3

[

4 A group of 60 people went on a coach trip. For their lunch, they each had a
- choice of cheese or ham sandwiches and a choice of an apple or a banana.
This table shows the number of people who chose each option.

Cheese| Ham Total
Apple 8
Banana 16
Total 28 60
How many people chose a cheese sandwich and an apple? [jj

What fraction of the total number of people had a banana?
Circle the correct option.

A %y C % E 2,
B iy D Y,

Josh is buying a fish tank for his four new tropical fish. Which of the following would
be the most sensible choice for the capacity of the fish tank? Circle the correct option.

A 15ml C 500 ml E 150000 000 ml
B 150ml D 150000 ml

The programmes shown on a TV channel over a 24-hour period were divided into
seven categories. This pie chart shows the proportion of each type of programme.

Documentaries

How many hours of sport were shown?
hours

@ CGP — not to be photocopied 47 Test 15



B P SO F OS]
S R ST aE T SO W Y St

LS R E
8,
both of the f 4
0 for which of the following pairs of dltf?i‘ dCircle the comen s shoy, e ;
: IO me number of lines of symmetrys answey
the sd

s (088 o 83

10. Joseph is thinking of a number. He says,
itis greater than 5, and it is prime”.

“the number is a facto, of 66
What number is he thinking of?

11, What is the are of this shape?

9m

5m 8m

13m

Test 15




e Bex lives in a house with a prime
number on either side.

* Anna lives in a house which is a multiple of 3.

e Edgar lives next door to Bex.

e (Carrie lives next door to a house
with a square number.

(razy Computer

Captain Calculator’s Space Computer has developed a fault.

The picture shows five houses on the same street.
Anna, Bex, Carrie, Don and Edgar each live in one of these houses.
Use the clues below to work out who lives in each house.

It has replaced the digits 0-9 with symbols.
Using the sums below, work out which symbol matches each digit.

Then find the code Captain Calculator needs to reset the computer.

Number

Name

19

21

23

25

27

i

f ™
ox—eovy=% IxI=Al
*+o=@Y M+Y =00

Il

I

8

OY-+-%w =% *® -Y¥=A
®+0 =% CXM=%Y

Il
-

il

Enter code IR Y % to reset

Il

=
O
A

o | B |k

Code =

— not to be photocopied 49
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i nd acc
You have 10 minutes (0 do this test. Work as quickly a urately ag you can

1. Richard records the colours of all the cars he sees one day in a pie ch, -
i 1CN¢

What is the most common colour that Richard sees? Circle the correct option,

A Black

B Blue

C Silver

D Red

E Cannot tell

i

2. Chelsea has 1.5 kg of sugar. She divides it into equal piles that each weigh 72§

How many piles of sugar can Chelsea make? [I[

The ages of Mr Mann's six grandchildren are 13,10, 6, 3, 3 and 1.

3. Whatis the mean age of Mr Mann's grandchildren? Circle the correct oP1o™

:36 C 6 E 5.5
4 D 12

Test 16



What is the size of angle x? The diagram is not drawn accurately.

133;/

1)

Alorry can hold 4096 boxes of chocolate. Each box weighs 807 g.
What is the combined weight, in grams, of all the boxes of chocolate?
Circle the correct option.

A 1886244 C 5589636 E 9367820
B 3305472 D 5987502

wisa coordinate grid. The units are in centimetres.

yf
121
T S

8-
4
| ' : —>
0 4 & 1o

\\'yialtine Lis paralle] to the line
are the Coordinates of the

S and goes through pointT.
point where L meets the y-axis?
d"thTEZ()

hat tal fin (G’D)

®and a verticy |
Sthe arey of the trj 'cal line are drawn through point T,

angle formed by these twg | ines and line §?



9.

10.

1.

12,

Test 16

t A 2

e doubles it; adds four and then

ver did Cally start with? OUbles ;

Cally is thinking of a number.

She ends up ith 44, What num |
8

=

den has width x m. [ts length is 5 m more than its wig
Width, I

A rectangular g
¢ area is 126 m”.

as shown, and it
x+5

X not drawn accurately

Which equation shows this information? Circle the correct option

A xlx+5=126

B x+x+5=1206
C 2x(2x+5)=126
D (x-5x=126

E x+5=126

There are 240 squirrels i
uirrel
grey, 15% are b?ackr_e ; Ior:Na wood. '/ of them are not grey. Of those that &% ol
many black squirrels are there in the wood? |

y Sweet

, 15 of which are cherry. He picks

out of the ba
, g and eats it
Circle the correct Option' What fraction of the remaining swee

a cherr
ts are ¢



You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. Which of the following is a hexagon? Circle the correct option.

T 7 A

2. Asnail travels a distance of 0.5 cm every second.
How long would it take the snail to travel 1 metre?

D minute(s) ED second(s)

6 cm not drawn

accurately

<«—9cm—»

What is the area of the triangle above? Circle the correct option.

A 30 cm?
B 36cm?
C 54cm?
D 27 cm?
E 18cm?

CC? = not to be photocopied 53 festl




. The number of guitars they each - ”i

itar sho
13 work at a guitars

ayne and Ling 2 araph.
Wayne a hown in a line graf

in one week 18 S

—_ —_
L o £
=3

o
q
ot
+
"
0
o
»

0 o
.....
ot

Number of sales

S B oo
= S

Tu W Th F Sa Su
Day

4 Whatis the difference in the number of guitars sold by Wayne and Lindg on Ffidayg

)

5. The price of each guitar that Wayne and Linda sold on Monday was £185 45
Howpmuch money did they take on Monday from the guitar sales?

L0

6. [459 x 6626 = 3 041 334

Whatis 45.9 x 66.26? Circle the correct option,

A 3.041334
B 3041334
C 304.1334
D 3041334
E30413.34

7. A si?op sells 500 g bags of pasta for £1 60, and 1 5 kg bags of pasta for £3.60.
Oulse needs 3 kg of Pasta for a byffey. How much money could she save

buying th 1.5 kg hags
o0




: 3 i i 2x -8 not drawn accurately

Ox

\hat is the perimeter of the triangle above? Circle the correct option.

A 9+ C 8x-5 E 8x+5
B 4x+5 D 5x-2

R e sl W RIS S AW g

:
i}
%
%,
;
'g.
!
i
|
4
i
¥
)
i1
«
13
L
1 ":
¢

3 g, Asequence starts 1,2,4,7,11, ..
What are the next two terms in the sequence?

R R

| i
% 10. Which of the following gives the smallest answer? Circle the correct option.
| A 10% of 158
: B '/, 0f 30
¥ C 0.1x100
D %;0f24
E 20% of 90

3 \Th; Sum.of the angles in a polygon can be found using the expression 180(x - 2)
"ere x is the number of sides of the polygon.

’

12. The sum of the angles in a shape is 1800°.
., How many sides does the polygon have? [ I I ]

)

ot to be photocopied 55 ok
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] 1. What s the sum of the angles in an octagon?
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Work as quickly and accurately as v,
Can. }

d below:

, 200 & 1.1 kg
een her heaviest and lightest -
S

i kilo am betw
What is the difference,u kilogramss

«—19 cm—>

s
7 cm
/ not to scale
The perimeter of the parallelogram is 62 cm.
What is the length of the shorter side?
an
A cup holds 256 ml of water and a bathtub holds 189.4 litres of water.
3. How many cups could you fill from i
. th
ol e Emrmett ol e water in a full bathtub? |
A 739 C 1165 E 341 j

B 625 D 1373

akefora
e mlnu f

4. The bath drai
drains at a rate of 5 litres per minute. How long does it t
st who

full bath to drai
in completely? Round your answer up to the neare
miﬂuw

Test 18
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s . 2 1 1 " .
\ poster sold at a museum is 3 Copy of a paintin

if the poster is 60 cm wide, how wide is the orjgj
Circle the correct option.

(W3

A 45cm

g\

B

50 cm

T W il

~&
>
=
Q.
~
=
@
0
o
=
Q.
wn
—
-
0]
)
c
=
5=
)
-
@)
—“
O
O
w
<)
o
-
]
-*\
=0
7
ot
]
QD
O
>
@
A
=0
job)
<
@
=
—
=
D
-~
O
O
O
o
@
@
=
®)
>

Teacher

Number of CDs

Miss Elliot

DOOOE
N

Mrs Robinson

OJOIOX¢

Miss Jackson

OIOIN

Miss McKenzie

There'are 34 CDs in Mrs Robinson’s collection and Miss McKenzie’s collection
combined. What number should replace the ‘?” in the key?

L]

8. A postman starts his deliveries at 4:20 am. He delivers to two houses per minute,
and there are 200 houses on his route. If he has a 20 minute break during

his round, what time will he finish?

Cp

o

"~ hotto be photocopied
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)~
9. Whatis 7892.3216 rounded to the nearest thousandth? Circle the COrtect g,
' On

A 8000

B 7900

C 7892322
D 7892.321
E 7892.32

10.- On Monday, Miss Leigh marks 50 papers. Each day after that, she marks
5 fewer papers than the day before. How many papers does she

11. The diagram below shows three points joined together to form two sides of a shape

12.

Test 18

mark from Monday to Friday? Circle the correct option.

A

m o N ™

250
225
200
175
150

6_ e L] -
44 << xx 3 x ‘
24—  ;,‘A 1
e

Ko

A.rndd




You have 10 minutes to do this test. Work as quickly and accurately as you can

1. How many factors of 30 are also factors of 152 Circle the correct option.
A 0 C 2 E 4
B 1 D 3

L The table shows the temperature of four cities one day.

| Helsinki —16
Paris -1
Rome 11

2. What is the difference between the warmest and coldest temperatures shown?

L]

3. Onthe day that these temperatures were recorded, Helsinki was
18.3 °C warmer than its coldest ever temperature.

What was its lowest ever temperature?
—l I H | °C

% Hlie completes a 400 m race in 80 seconds. It takes Amy 25% longer than Elli?e to
complete the race. How many seconds does it take Amy to complete the race

©CCP Test 19
- Notto be photocopied 59



and 250 cm. What is its areq i, " |

ot -
5. A rectangle has side lengths 4

35.274 ounces in 1 kg. There are approy;

imatel - Mate|

" Zh;Sreeriena{)gtrgsler.mCirc):/le the number of ounces in 1 stone, y
A 555 c 224 E - 828 |
B 176 D 0.18 i

hich type of holiday they a1, |
A of people were asked to chqose W aay they woulg . |
7 toggfléa nezt, (E)ut of six different options. The results are given in a bar Chan,e

-1 |Owomen
24 - —___ .men

ks
52 161 | —
Q0
8
Z 8 || |
TH Qe @ O &
> @) > Q A
v

How many more men than women chose skiing?

. . z
8. Which of the following shapes has the greatest number of lines of symmetfy’
Circle the correct option.

A lsosceles triangle
Kite

Scalene triangle
Rectangle

Equilateral triangle

m o N @

| od
Test 19 60 © CGP— ot to be 1



ur identical squares with sides of length 5 cm are put together to make a shape
FOhere each ‘step’ from one square to the next is 1 cm.
W

T 1 om—> not to scale

What is the perimeter of this shape?

L e

on the coordinate grid is a line and five points labelled A to E.

0

10. Circle the only labelled point that doesn’t form a right-angled triangle
or isosceles triangle when joined with the two end points of the line.

1. Two triangles are made — the first one has corners B, D and E
the second one has corners A, D and E. How many times greater is
the area of the second triangle than that of the first triangle?

]

2. na sequence of dots, there are '/,n(n + 1) dots in the nth pattern. What is the
Pattern number for the pattern made up of 28 dots? Circle the correct option.

A 5 C 1 E 16

B 7 D 15
)

Ocep

" TNotto be photocopied 61 Test 19




You have 10 minutes to do this test. Work as quickly and accurately aq vou -
ou have |

1. Anew road is exactly 236 515 cm long. How long is the road in kilom
| Circle the correct option.

A 0236515 km

Elregy

B 236515 km
C  23.6515 km
D 236.515 km
E 2365.15 km

2. Circle the shape below which has a different number of
lines of symmetry to the others,

D™ 0OA'e

3. The volume of 5 triangular prism . rarea of triangular face x Ien@
=
+—Q 4« 4 Cm
cm—s,; not to scale
What is the volume of the triangy|ar Prism aboye? Bjcn‘
Test 20




\4' What is 2140 x 1.1 + 0.9 x 2140?

L

5. The times of five runners who took part in a 200 m race are shown in the table.

; R r———

s | Paula Andrew |Mohammed| Jenni Thomas
e 29,89 47.82 46.95 31.59 28.94

What was the time difference between the fastest and
slowest finishers?

LU

6. How many common multiples of 5 and 6 are there between 80 and 1002

The pie chart shows the favourite type of book of 60 people in a book club.

7. How many people said that comedy was their favourite type of book?

e

What fraction of the book club said their favourite type of book is a thriller?
Circle the correct option.

8.

A T C ho E s
B 1, D i

¥ Oc

'} %P~ not to be photocopied 63
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9. The Number Cruncher uses a formula to turn one number intg aNothe,

1 —

The |—» 11
Number
3 — | Cruncher

§ —=

9 ——P

When you put x into The Number Cruncher, what comes out?
Circle the correct option.
A 9x C 2x+7 E 5x+1
B x+8 D 5x+4

Gregory ploughs a field at a rate of 200 m* per minute,
and trims hedgerows at a rate of 50 m per minute.

10. If he starts ploughing a 300 m x 400 m rectangular field at 9:00 am,

what time will he finish? |
D:):EDW

11. The perimeter of the field is a hedgerow. He starts trimming
the hedgerow immediately after finishing ploughing.

What time will he finish trimming the hedgerow? U:}[jjpm

12. Keith makes a sequence where every term is greater than the previous tergflowing H
e

To find a term, Keith multiplies the previous term by itself. Which of t
numbers could Keith have started with? Circle the correct option.

A -1 C 05 E 2
B O D 1

Test 20 64



e for HIEd

k! These puzzles are a great way to practise your maths skills.

m Tournament

sderboard in a chess tournament is shown here:

The le
Gome of

fmma says,

Hayley says, "I won't play against anyone whose name begins with A.”
Andrew says, “If I'm not playing against Mohammed, I'm not playing.”

Two people next to each other on the leaderboard
an't play each other. Who is playing in the next game?

PSS T

x|

the players are a bit fussy
sout who they next play:
Jif: onl)/ PMY ﬂjﬂlimt “thh”jir l

Pete’s Pieces of Pizia

Pete has some pizzas and a pizza cutter that cuts in a straight line.
| He makes one cut in Pizza 1, two cuts in Pizza 2, and so on.

Pizza 1

2 pieces

Pizza 2

7 pieces

4 pieces

D pieces

Dr :
- W cuts onto Pizza 3 to give 7 pieces. (They don’t have to be the same size.)

Fillin the 1

i

s th
vare 4 pattern in the number of pieces that Pete can make?
| Many pieces can he make from Pizza 5 and Pizza 6¢

D pieces Pizza 6 = D pieces

i‘
b PiZZa 5=

ox with the maximum number of pieces Pete can make from Pizza 4.

!
‘g
j

&

-~ Not
0 be photocopied
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this test. Work as quickly and accurately 4 you
C

dn,

You have 10 minutes to do

¢ has a side length of 4.5 mm. Whatis its Perimetq,

_an,

1. An equilateral triangl

2. Athena is shopping for bargains at a car boot sale. |
She buys four items from the table shown. She spends £14 in total,

Which four items did she buy?

A  Tea Set, Hat, Phone, Glove
B Hat, Phone, Glove, Book

C Tea Set, Phone, Glove, Book
D Tea Set, Hat, Phone, Book

E Tea Set, Hat, Glove, Book

3. Robert has a pile of identical equilateral triangle tiles.
He places tiles next to each other to make different shapes,

without the tiles overlapping.
Which of these shapes can he not make using the tiles? Circle the correct optio®

A  Triangle C  Parallelogram E Trapezium
B Rectangle D Hexagon
ot
66 o ccp—noto e
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. A Cardb.oard EO);) weigvfc/s;]T 50 8. 24 bags of crisps, each weighing 30 g,
* re put into the boX. at is the total weight of a box filled with 24 bags of crisps?

L

5 The bar chart below shows the numbers of apples and bananas
I 7 oldin a grocer’s over a period of five months.
- o B Apples
I O Bananas

Jan Feb I\;Iar /ipr l\?lay
Which month had the greatest difference between the number of apples
and the number of bananas sold? Circle the correct answer.

A January C March E May

B February D April

6. The temperature in Nina’s cellar is 8 oC at noon. The temperature in her cellar
drops at a steady rate of 1 °C every 30 minutes over the course of the afternoon.

What is the temperature in her cellar at 1 6:30? Circle the correct answer.
A -1°C Cc -4°C E 0°C
B -2°C D 1°C

_7‘ Siobhan starts at 50 and counts back in steps of 12.
Which of these numbers will she count? Circle the correct answer.

A 0 C 2 E 4
B 1 D 3

o Test 21
"ot to be photocopied o7




8. Trevor has some square cards,
He uses them to make the shap

25 i~

What is the area of his shape?

Jasmine is on a fishing trip. The
day over the first four days is 7.

9. What is the mean

all with the same side length,
e shown. Some of the cards are ¢y ;
in hy

:ltm;

mean number of fish she catches each
On the fifth day, she catches 2 fish.

number of fish she catches over the five days?

|
i

, : |
10. Five of the fish she caught during the first 5 days were salmon. What fractjg, ¢ |
the fish she caught over this time were salmon? Circle the correct answer |

A hyg c Y E
B s D %s

The diagram shows an L-shaped box.

Fin

5m

11. What is the volume of the box?

12. Alid is.madf'a to fit on top of the box. Each square metre
of the lid weighs 50 kg. What is the weight of the lid?

L

fo
o cop— ot 0P
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3 1‘

you have 10 minutes to do this test. Work as quickly and accurately as you can

i makes himself a cup of te
cwork, Jordi ma p a every hour. Sally makes herself a cup of t
wvery hour and a half. They both make a cup of tea when they get to work at OpQ:OOfea

what time will they next both make a cup of tea at the same time?

L

They both leave work at 17:30. What is the total number

L)

Tost 22

. 2‘

I of cups of tea that Jordi and Sally make in one day?

3 A strip of patterned cloth costs 5p per centimetre.

9 10

| How much does the strip of cloth shown cost? Circle the correct answer.

A £084 C  £4.00 E £8.40

B £0.42 D £4.20

4 What number will correctly complete the following calculation?
38+38+38+38=8%___— CI:J

;%CGP

69
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. -osts 99p. Ting ,
5. Ablock of butter has a mass of 500 g and costs 99p. Tina buys ¢ kg of byy,

How much does this cost her?
LN

. . S o/ . . ]
6. There are 50 packets of crisps on a shelf. 10% are requ ?c{'tﬁ‘d, /5
. N >} ¢ . 1.
and pickle, 10 are prawn cocktail, and the rest are (?«\st.c ricken,
What is the most common crisp flavour on the shelt? Circle the corrg,.

A Ready salted '
; i
Cheese and pickle

B

C Prawn cocktail
D

E

(‘r‘

are ch@QSQ

Roast chicken

Impossible to tell !
{
7. The graph shown converts Cumberland Pounds to Westmorland Dollars, !
st |
k= BN
Se Y001
88 3f{{iiir A tdits
- unay diann
g0 2L |
= o BESS
0 1 23 4567 1
Cumberland Pounds
Nadine converts 4.50 Cumberland Pounds into Westmorland Dollars.
How many Westmorland Dollars does she receive? Circle the correct answer. |
A 250 C 3.25 E 5.75 1

B 3.50 D 4.50

8. Henry and Harriet have 67 racing pigeons between them.
Harriet has 13 more than Henry. How many racing pigeons does Harriet have!

o
Test 22 70 © CGP — not to be pho™ 4



diagram shows the lines 4B and PQ. 4B is perpendicular to PQ.
| qhe 01457

g y4 A(6, 10) [
;

: i
P 2

: B(6, 2)

0 M

which of these could be the coordinates of P and 0? Circle the correct answer.

A PG3) and Q(8, 8) D P4, 2)and O, 4)

g P2 4 and 07, 2) E PG, 3)and 007, 4)
c PG, 3)and 08, 3)

T

eoryrvony

|
|
.>.

e e St b

iook 1t the diagram shown below.

b not drawn

2a accurately

a

i

10, Circle the expression which correctly describes the angles shown.

A a+b=90° C 2a+b=90° E
B 3a+b=45° D 3a+b=90°

e —————————

3a+b=180°

¥

(g oot e 2

1. Charmon measures angle a to be 18°. What is the size of angle b?

o

2 Zosic n -
58;3/ is fca}:rymg out a survey to find out what people’s favourite take-away meal is. i
00Tt

ol € people she asked said ‘kebab’. She draws a pie chart to show the
Ults of the survey. What size angle should she use for the ‘kebab’ sector?

L ()

B Not .
: ©be phOtOCOpsed 71 Test 22




P e T

. ickly and accur
You have 10 minutes to do this test Work as quickly ately as You ¢

oted for the winner in a reality TV serjeg Wag

1. The number of people who undred and three. What is this in figures;

two hundred thousand, five h

2. The bar chart below shows the numbers of different types of vehicle
parked at a service station car park.

20 m

H
i
i

ih

¥

Car Van orry

ik

: Bike Bus

Which two types of vehicle had a combined total which was the
same as the total for ‘Bike’? Circle the correct answer.

A BusandVan C BusandCar E  Vanand Loy |
B CarandVan D Carand Lorry |

In a shop, each banana costs 18p. Connor buys as many bananas as he can afford.

3. Connor has £2. How many bananas does he buy? m |

4. The mean mass of each banana that Connor buys is 120 g. |
What is the total mass of the bananas that Connor buys? D:Dj |
g i

|

Test 23 79 © CGP — not to be photo



Je pours some water into a 500 ml beaker, as shown.

- graen
i 500 mi=

he best estimate for the amount of water in the beaker.

cicclet
A 100 ml C 5 ml E 1000 ml

Find the area of the shape shown.

10 mm

-+
4 mm 22 mm 4 mm
’ I I 'mm2

/. During the first six days of one week, Scott drove a total of 467 miles.
~ His mean distance driven each day over the full seven-day week was 70 miles.

How many miles did he drive on the seventh day?
LT omies

) LI . :
DhOnna is training for a marathon. Each week, she increases the distance
IS eruns. In week 1, she runs 4 miles. In week 2, she runs 6 miles.
Week 3, she runs 8 miles. She continues in this sequence.

In which week will Donna run 26 miles?
week |

Gp

\nOt
— to be photocopied 73 Test 23
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9. What fraction of all the faces on a fair six-sided dr:ce show a Numbg,
. 1at fraction of « ik X SENEL
which is a factor of 102 Circle the correct

E U

A Y C 2
6 5/

B D 7

Ronny has four rectangular tiles of size 8 cm x 3hcm E;??:(;zgi\(}:are tiles
with sides of 6 cm. He arranges them to make the patte :

10. What is the perimeter of the octagonal hole at the centre of the shape?

1. The tiles cost 10p per square centimetre. How much does it

cost Ronny to make the pattern? Circle the correct option.,
A £24 C £20

E f14
B f£40 D f£36

Test 23 S,

-
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The pointer is turr‘led 270° clockwise from its position shown in
the diagram. Which letter is it now pointing to? D

Jimi is at an amusement arcade. He gets a £5 note changed into coins. He receives

five 50 pence pieces and ten 20 pence pieces. The rest is made up of 10 pence pieces.

¥

2. How many 10 pence pieces does he receive? Uj

3. After a while, Jimi has spent ¥/ of the 50 pence pieces that he received.

How much is this?

4 Theo set off from home at 10:53 and drove to his parents’ house.

His journey took 2 hours and 42 minutes. _
What time did he arrive at his parents’ house? Circle the correct answer.

A 12:42 C 1335 E 13:21

B 14:25 D 12:35

Test 24
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T e

e sales. The sales prices of the coat i
w. Circle the lowest sales price.

*0f £80 E £32.75
1/2 Of £80

5. Juliet is buying a coat in th
five different shops are given belo

A 50% of £80 C
B £38 D

6. Which of the following is the most suitable unit for measuring the distance
between two cities? Circle the correct answer.
A km C cm E m?

B mm D m

7. Darius is washing cars. He earns £3 for every car he washes.
The table shows the number of cars he washes during one week.

Day Mon Tue | Wed Thu Fri
Numberof Cars|{ 5 4 6 7 8

What was the mean amount he earned per day during this week?

L[]

The diagram shows a plastic box and a metal cube.

! 4 cm 3 om
IF -
T 3cm
8. How many of the cubes will it inside the box? D

9. The box is extended in one direction so that it can fit 1 extra metal cube inside by

- _ . crease
The minimum amount of space is added. How much does the volume inC¢*

cm}

hotocap‘
Test 24 76 © CGP — not 10 be P



ecords the eye co!ours of all the members of his cycling club
his results in the chart shown below. '

e0

%10' |L4e displays

1
‘

Blue Brown Green

LU UL A i
0% 20% 40% 60% 80% 100%

al

What percentage of his cycling club has brown eyes?

. David plots the points 4(=5, 5) and B(5, —5) on a coordinate grid.

" e joins them up to form ’Ehe diagonal line 4B. AB passes through the origin (0, 0).
circle the point below which is not on the line 4B.

]

A (1,-1)
B (-1, 1)
c 2,2)

D (-2,2)
E (3,-3)

12. The shape below is a parallelogram.

- 4x e

[ )

Circle the expression that gives the shape’s perimeter.

A 8

B 4x+2

C 8x+2

D 8x+4

E ox

)

é
;CGP\not to be photocopied 77 Test 24




o
‘ﬁ‘

st. Work as quickly and accurately a5 you
‘ ¢

an'

You have 10 minutes to do this te

J

The shape is turned 90° anticlockwise. Circle the resulting shape.
Aj | BJ? 1{) D§ E

2. Steve creates a sequence using the rule ‘multiply the previous number by 3,
then subtract 2 from the result’. Circle Steve’s sequence from the options beloy,

1. Look at the shape below.

A 1,24.
B 2,4,10..
C 2,428.
D 3,9 27.
E 3,7 18..

3. The price list for a barber’s shop is shown below.

5Keavins ¢

Buzz Cut £5.50
FlatTop  £9.00
Mohawk £]

One weekend, Gavin does 10 buzz cuts, 5 flat tops and 4 mohawks.
He earns £144. How much does Gavin charge for a mohawk?

gt

78 © CGP — not to be ph°
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S

Jateral triangles each have a perimeter of 45 cm,
WO e~qin5 them together as shown, to create a rhombus.
by J°

What 1 the perimeter of Toby’s rhombus?

4.
cm

How many more rhombuses does Toby need to make so
that they will fit together to make a regular hexagon? D

6. The graph shows the number of fish caught when using
two different brands of fishing rod on a fishing trip.

Fish-o-matic &5 )/ = rvs f

B TR =
BN AR RN

0 2 4 6 8 10 12 14
Number of Fish Caught

Why is the graph misleading? Circle the correct statement.

A ltis impossible to catch 12 fish in one day.

Not everyone likes fishing.

The area for Fish-o-matic is more than 3 times the area for Angler’s Dream.
The horizontal axis values don’t increase evenly.

Only two brands of rod were tested.

m o O ™

¢ 7. x i
g R(}Se Is thinking of a number. Her number rounded to the nearest 10 is 1110.
Circle the smallest number she could be thinking of.
A 1110 C 1105 E 1104
| B 1100 D 1115
M0t to be photocopied 79 Test 25
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.

e number of eggs laid

. T show th
8. Rhoda is drawing a pictogram to hown below.

s nces the key s
by her hens each month. She uses the key

/
=4 eggs

w many egg pictures should
Circle the correct answer.

E 8%

[n January, her hens laid 35 eggs. H(?)
she use in the pictogram for January:

A 10 c 8%
B 9 D 7

9. Find the size of angle x, shown below.
X

20 20° |

X |

10. Shirley is making a cottage pie. She usually uses 450 8 of mince for 5 people,
Today she is cooking for 8 people. How many grams of mince does she need?

LD

Gina has a collection of stamps. One fifth of all her stamps are from Britain,
one third are from France, and one quarter are from Sweden.

11. Which of the following could be the number of stamps in Gina’s collection?
Circle the correct answer.
A 50 C 30 E 20
B 40 D 60

12. She sells some of her collection for £31.25, which is two and a half times
the face value. What is the face value?

Test 25 80 © CGP — notto be pho
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1, f~ra reak! This puzzle is a great way to practise your maths skills
O ,

alhs crossword

clues given to complete the crossword.

s€ the
gne of the clues has been done for you.
A M T TR T —r—
LIS T "
. 4 15 P.Gv i i 1
P e
j - 78 — RS
AT S Il L0 P O I
samni _ T !
e -, SN R N T
S M immnmmmananasE O
i i o Y i s i e o
b Acoss Down )
| 1. Aquadrilateral with one D 2. Anamount measured in g or kg.
| pair of parallel sides. 3. A nutrll1bf3rt whu(:)l:h(il;/::if; o
o . nto an 4
| 4 The number of sides in a quadrilateral. s ,ing) :hlape with 4 equal sides
| 6. Using letters to represent numbers.%* \ . and 2 pairs of parallel sides. o
| & An elght-sided. shape. 7 The order of operations.
| % A3D shape with tnangular 8. An angle between 90° and 180°.
| 12 Athree-sided shape. The bottom half of a fraction.
P shape with the same 11. A shape with sides of equal
B ace at both ends. = length and equal angles.
;‘ G An angle between 0° and 90°. 4 13. A triangle with two equal sidesd
F The top half of a fraction. " and two equal angles.
] <A2D shape that folds to 14. The units used to measure_ang'es-
treate a 3D shape. 15. A number which only has itself
- Acircular graph that shows the % " and 1 as factors. . i
» }P\foportions of different values. (2 words) 16. Average found by adding and dividing.
{ " Uangle with no equal 18. 100 cm. :
{2 ;ldes or angles. 19. The space ina 3D shape. /
‘ "o lines that will never meet. 20. The spaceina2D shape.
P\ Puzzles 5

I
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You have 10 minutes to do this test. Work s quickly and accurately a5 YOu cap

uy

1. A sequence begins 55, 45, 35, .- What is the fifth term in the sequenc,

2. A fair spinner numbered 1-6 is spun.

AN
Y

What fraction of the spinner is numbered with a factor of 12?2
Circle the correct answer.
A 1/2 B 1/6 C 5/6 D 1/3 E 2/3

3. The graph below shows the population of the city of Balonia over time.

2004 - A : ;_:, . i ‘.:; i 7_‘:' R S (RS e i
Population R SO SO O A G S A N T
(thousands 1004 — x‘g“ R i
of people) T e o .
1 IS S N U DU A 0 O S SR ELB
1800 1850 1900 1950
Year

Use the graph to find the approximate population of Balonia in 1910.
Circle the correct option.

A 80000 people

B 90000 people

C 160 000 people

D 180 000 people

E 190 000 people

Test 26 82 © CGP —




ked each pupil in her class how man

'ﬂg‘s L .
u

Shep 8~

y siblings they have,

(@]
1

S
§

N
|

Number of pupils

1 1 2 I 3 i 4 T 5+ 1
Number of siblings

, What percentage of the class have at least 5 siblings?
an]

;. Circle the statement below which could be false.

A There are 25 pupils in Mrs Biggs' class.

B One pupil has five siblings.

C Six pupils have at least three siblings.

D Onein five pupils don’t have any siblings.
E Twelve pupils have fewer than two siblings.

Vecipe says, ‘Cook a chicken for 25 minutes, plus 5 minutes for every 100 g it weighs.’

» Audrey has a chicken that weighs 1.1 kg. How long should she cook it for?

Circle the correct option.
D 1 hour 10 minutes

A 50 minutes
E 1 hour 50 minutes

B 1 hour 20 minutes
C 2 hours 25 minutes

) .
: tes.
Edwarg works out that he needs to cook his chicken for 2 hours and 5 miny

H 3
w many grams does his chicken weigh? DID :
B

\n()t
| Ohant. . . a2

e PR T R I R T 2




X e

o] WY
‘\Q_‘:.,;_‘ F,
SeE '\ W
SEd
&t

g
Th dimensions 4 cm x 4 ¢y 30 ¢y,
the dim |
ble. Each of the 4 legs has
es a table. E: |
e :T;;‘IESZZ tc]m x20cm x 1cm
et

: VO U

‘m?
lim uses co P per . i the table?
al that T S,‘ Sm OStSb“ ugh material to make
9. The materia it cost him £ y enoug
e I ;
How much does it co

fD:DJQ

- He cuts it half ang 8ives one half 1
+ Tl cuts the er half into three
o his Jit/e brother 0 eat, y k

Hal pieces 4 8IVes two of them
€ keeps the rest.

1. Whgyt fraction of the strawberry lace does Ethan keep.? Circle the correct option.
AT,
B 2
C
D1
E 2

12 Each eXtra.|

v ™ o



Test 27

40 minutes to do this test. Work as quickly and ACCurately a5 yo
| u can,

percentage of the grid below has been shaded?

i

and Alex were born in the same year.

orn on 25th September, Mick was born on 12th June
grn on 1st August. ¢

ys older than the youngest person is the oldest person?

‘The numbers of sweets in each bag are listed here.
a6, 8, 8, 11

ements is true? Circle the correct option.

eets is a square number.

ets is a multiple of 40.

ts is a prime number.
is a factor of 100.

’t.akes the overall mean number
in this new bag? [I:j

Test 27



holiday last :
A of people were asked whether they went on y year
roup e aske
Thgé results are shown in a pie chart.

Yes

200° not drawn accurately

i iday | ?
5. What fraction of the group said that they did go on holiday last year:
Circle the correct option. , ‘
A 7/ 10 B 4/ 7 C 5/ 6 D /3 E )/'9
6.

Sixteen people said that they did not go on holiday last year.
How many people said that they did?

The total area of all the faces of a cube is 54 cmz,

7. What is the cube’s side length?

8.  What is the cube’s volume?

9. Ona coordinate grid, a counter is placed at the point with Coordinates (—4, 5)
€ counter is moved two squares to the right, then dlagonally aCross gne
Which of these Points is the counter definitely not at? Circle the Correct opst?s::re
A (-1, 6) B (-3, 4 C 3,6 D 26 E (<1, 4
Test 27
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g os of a parallelogramis 1171°,

=

S an i .

{’ ol "!‘( Jqli;‘ of another of the angles that isnt 111°2
< th >

{ t
O
! °

; Lical regular octagons are placed together to make the shape below
. e .

fol“ |
th

uare formed in the middle has a perimeter of 20 cm.

w;:tqis the outer perimeter of the shape? Circle the correct option.
A 84cm B 95cm C 100 cm D 116 cm E 125 cm
\ . Atype of plant pot can stack neatly, as shown below.
[ Jt3cm

L4

it fomene o i

What is the height, in cm, of a stack of x pots? Circle the correct option.

P — . -
P — not to be photocopied 87 Test 27

A 11x
5 B 3x+8
§ C 8+3
i D 8+3+x C ”ZJ
‘t E 5x



ickly and accurately 4
You have 10 minutes to do this test. Work as quickly y

oy Can

Fruit Sho
Apple 15p
Pineapple  95p

Joan buys a pineapple and three apples. How much does she speng?

O

Circle the shape below which has the greatest number of lines of SYmmetry,
&t Ry,

3. Which of these is equal to three thousand and twenty-five millilitres?
Circle the correct answer.

2.

A 3.025 litres C 3025 litres

E  0.3025 litres
B 3.25 litres D 0.325 litres

4. A cuboid has a length of 14

m, a width of 2 m and 3 volume of 280 m3.
What is the cuboid’s height?

aun;

5. Acrystal glass costs £1 7.5

0. Asetof 4 glasses costs £56,
What is the saving you would

make by buying 4 set, instead of
4 individual glasses? Write Yo ying SR

Uranswer as 3 percentage, [E%

88
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.} - . -
- pelow shows a pumpkin, a jar of Peanut butter and a Jar of mustard
P ﬁr- mhe -
Jide

P
+

hat is the mass of the pumpkin?
\.\.’ ¢

6. (::}(::I::Jkg

grett buys the pumpkin, three jars of peanut butter and three jars of mustard.

\What is the total mass of his purchases?
LD

chart below shows the total number of goals scored by all the teams in the first
P - zrounds of an ice hockey tournament. The vertical axis has been left blank.
v

n |

)

Number of
Goals

Iln...q
1 2 3 4 5

Tournament Round

et o A R OSSO

8. Which round had the third highest number of goals? Circle the correct answer.
A 1 B 2 CcC 3 D 4 E 5

9. Which of these sets of data could be the numbers of goals scored
in these five rounds? Circle the correct answer.

A 28,71,21, 84, 96 D 90,51, 10, 66, 89
B 24,68, 40, 90, 99 E 12,24,10, 35,30
C 30,11,19,77, 88

HCGP — not to be photocopied 89 Test 2t



ach pot can hold 9 pencils,
n to the next one.

10. Pam is sorting pencils into pencil pots. E
She fills each pencil pot before moving 0
She has 570 pencils in total.

: il pot?
How many pencils will she put in the last pencil pot!

N

11. Ken has drawn the graph below to help him convert between miles and kilometre
S,

i

Miles

Kilometres

He completes a 25 km run for charity. .
Use the graph to estimate how many miles Ken has run. Circle the correct answer

A 25 miles

| B 50 miles

| C 20 miles
D 15 miles
E 5 miles

12. Circle the expression below which is not equivalent to the others.

| A 12x+2
B 4x+2
C o6x
D 3xx2
E 7x-x
ficsia 2 © CGP — not to be pho ™ :
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gles add up to make a rj
the other angle?

TWO an ght angle.

| whatis

xikki thinks of @ number and divides ith

3. T : .
I which of these could have been her origly he remainder is 2.

| A 3
p 60
C 25
D 23
E 16

{feetof card has a thickness of 0.5 mm.
‘opiles these sheets to a height of 8 cm.

fach sheet of card has a mass of 5 grams.

Diego puts his pile of cards into a box of mass 250 g. ‘

What s the total mass of the box now it contains the pile of cards?
cle the correct answer,

A 1250 g
950 g
1000 g
1050 g
850 g

mm o o o

D Not to

be Photocopied 91

nal Number? Circle the correct answer.

- How many sheets of card are in his pile? m

Test 29
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i
point 4 with coordinates (-5, 4). .

o

The diagram below shows the

| N
| _
|

- 4

Lt
[ [
)

[ |
1177
‘1 g )
Lo £
ST L L
11

Aedeeb=t-T
Fr i

5. Point A is translated 8 squares east and 4 squares south, to give pojng 5
What are the coordinates of B¢ ( m
Ay

Point B is reflected in the y-axis, to give point C.

4

X

§ What are the coordinates of C? Circle the correct answer.
A (0,-3) B (0,3 c 3,0 D (3,-3) E o 3)
7. Althea is thinking of a number. She says, 'the number is a factor of 60,
a multiple of 5, and 1 less than a square number’.
Which of these is the number she is thinking of? Circle the correct answer.
A 10
B 3
C 35
D 48
E 15

A recipe uses 100 g of flour, 100 g of sugar and 80 g of butter.
8. Damian has 120 g of butter, and wants to use it all in this recipe.
What total weight of flour and sugar should he use, in grams? Egjg

Damian realises he only has 60 g of sugar, so can't use all of his butter.

9.
How many grams of butter will he have left over when he’s
finished making the recipe? wg

o
© CGP — not t0 be pho®”
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the statement below which is incorrect,

29 is equivalent to 0.02
0.25 is equivalent to '/,
4/, is equivalent to 40%
3/s is equivalent to 0.6
35% is equivalent to 3.5

The first six terms in a sequenceare 1, 4, 9, 16, 25 and 36.
- what is the eleventh term in the sequence?

12, Shi‘!‘)’l

cuts a triangle from a rectangular piece of card, as shown.

e _7?m__>
. W—
= 10m >

\What is the area of the shape left over? Circle the correct answer.

m o n s

o0 m?
54 v’
44’
do o

32 00

=D

Tesd 29




You have 10 minutes to do this test. Work as quickly and ACCurately o

Yoy Can

1. Liam asks the members of his art class to name their favourite m

in the pie chart sh eria|
to work with, He displays the results in the pie chart shown,

There are 28 people in his art class. |
How many people said that paint was their favourite?

£

PS ata seryjcq
alf before atiyip
dnswer,

A 14:05 C 15:25 E  14:50
1 B 15:35 D 15:05

2. Jamie sets off from home at 13:30. He drives for 25 minutes, sto
station for 10 minutes, and then drives for a further hour and a h
at his destination. What time does he arrive? Circle the correct

3. The shape shown below is made out of seven cubes,

Circle the option below which shows the view when
looking down from directly above the shape.

A B C D 3
L EHEP

ieJ
l ) e Test 30 e N nhOtOCOP l
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3 stripy ties, 5 spotty ties and 12 plain ties.

siden has
1 What fraction of his ties aren’t spotty? Circle the correct answer
4. 17 ’
3 B / C 3
A /20 20 /4 D ]/4 E 3/—

What is the ratio of plain ties to stripy ties? Give YOUr answer in jtg simplest f
es orm,.

The shape shown is reflected in the dotted mirror line.

Tt T +t1 4
6 "“F"’T“"”“‘ -
-.__]p_ -

41 ——t

22T
~———t— *"‘f’"ﬁ

0 2 46 810~

6.

What is the new position of vertex P? Circle the correct answer.

A (1,4
B 4, 1)
cC (1,4
D (12,4
E (10, 4)

Elise and Lara have a total of 120 trading cards between them.
Elise has three times as many as Lara.

7. How many does Elise have? m

8. Rashid has twice as many cards as Elise. What percentage
of all of Elise, Lara and Rashid’s cards belong to Rashid? Uj "

Test 30
# — nat to be phmm:opied 95 )



r a period of 5 days.

120 miles ove
h day?

9. Sebastian cycles a total of :
> cycles eac

What is the mean distance he

mil@s %

10. The shape below is made by cutting a rectangle from a larger rectangq

om____,

.
o

y+2

Circle the expression below which gives the shape’s perimeter.

A 22+4y
B 11+2
C 2+
D 20+y
E 11+y

11. The formula for finding the nth term in a sequence is 10 — 4n.
What is the third term in the sequence? Circle the correct answer.

A 7
B -33
c 3
D -2
E -4
12.- Which number term in the sequence has value 22 m

Test 30 . of
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kg _
*quare has a perimeter of 48 m. What is its area? Circle the

minutes 1o do this test. Work as quickly and accurately as you can

\,'e
\ W

0324 copies of her new novel in its first week

56“5 12 . 3
in words? Circle the correct answer

T s g
wh e hundred and twenty three thousand and twenty four
’; welve thousand, three hundred and twenty four

[ one hundred and twenty thousand, three hundred and twenty four
g one million, two hundred thousand, three hundred and twenty four
:

one hundred and twenty million, three hundred and twenty four thousand

. is painting the front of a wooden gate. The front of the gate is a rectangle

Jithsides of length 3 m apd 4 m. She buys a tin of paint which will cover an
qea of 48 m?. What fraction of the tin of paint is left over when she has finished?
(ircle the correct answer.

b B s cC D % E

George is reading a book which has 860 pages-

Hereads at an average rate of two pages per minute.
Since starting the book, he has read for 1 hour and 20 minutes.

How many pages does he still have left to read? G:D

correct answer.

A

48 m? D 132 m?
B 12 m2 E 96 m?
c ]44m2

b
* Photocopied 97
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4

i - . 0 er books are hor ,
Madison’s bookshelf contains 200 books. 2'2 /_o of h ror Storieg
37% are sci-fi stories, and the rest are non-fiction.

’

5. How many of her books are non-fiction?

6. 34 of all her books are hardback.

What percentage of her books is this?
0
:[ %

7. The diagram below shows an isosceles triangle.

What is the size of angle a?

8.  The pictogram below shows the amount of time Henry
spent playing different sports during one week.

>

W & O 9

Football Basketball Tennis  Baseball

Key:
1 ball = 60 minutes

nie
98 e o b nhotoCOP

How many more minutes did Henry spend playin
basketball than baseball during this wzek? .

Test 31



. table below shows the number of p

airs of diff 3
. iﬂ‘;;euben’s wardrobe. erent kinds of footwear
in
Type Number of pairs
Smart shoes 2
Boots 5
Trainers 8
Slippers 1
; i f his footwear collection is e
vhat fraction o Collection is either b i
\Circ!e the correct answer. oots or slippers?
A 1"16
B s
c '
D s
E /16

malcolm thinks of five numbers. He writes four of them down:
13,7,9, 16
He savs, ‘the mean of the five numbers is 12",

10. What is the fifth number Malcolm was thinking of?

" 11. Malcolm thinks of a sixth number. The mean is now 10.

What is the sixth number? @

12. | x¥*>2x25-1

x is a positive whole number.

What is the smallest number that x could be? [Ij
(=)

B | Test 3
H.CP — not to be photocopied 99
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Time for a break! These puzzles are a great way mﬁmcﬁse YOW maths))

 Equal Shapes

Split each shape on the
right in half to make two
identical smaller shapes.

Elevenses

Amelia writes down a trick to find out if a number will divide exactly by 11
She uses the trick to show that 3091 divides exactly by 11:

9

\ L. Add together all the digits in the even posifion;>\
\

3091 0+1=1
2. Add together all the digits in the odd positions:  \
3091 3+9=12 }
Jlo ® Subtract the smaller sum from the larger sum: |
12-1=11

4. 1f the result is 0 or a multiple of 1, \
then the number divides exactly by 1. \/ N
Use Amelia’s trick to answer the following:
® Does 20524 divide exactly by 112
® Does 312581 divide exactly by 112

& What is the only number between 2165860 and 2 165 869
~ that divides exactly by 112




e 1ge5 2-4
st 3 nis 6, which i
C olum )
T 279 %]Ohund'g @ € | the thousands up
i u
rerian e
r
“mﬁfvﬂ@ 279 You can use the
2 52
. ing1° = 4 this
%ﬂ, na:n’;‘zdmd to fin
um
o0 ‘; 7106 61
p42
h qo 3 Sunday.
nd 7 on Su g
1 29€9 N QZ'DUVdagy_f? =16 pages.
3-53 road? igkegnd Liga reads
at the W '|
il be 30th Apri,
. i so Tuesday W_ll
4 days %ngﬁﬂi;mursday will be 2nd May,
ill be

o i he reads 4 pages.
and Friddy

= £2.90 on ingredients.
140+ £1.50 t at least
Il enough to get a
fit he needs to s€
Tomake a pro

Zévi 6p§ﬂ70]5 22.90. He sells ten cakes for £1
n

10=£10. Sohis profitis
o S%Eegékiif 012: use the partitioning method
O G £2=£Band £6-£0.90 =£7.10.

G e =35g. Sothe
massof 20g+ 15g=3 4. So
Ezc;;c:fkgga;i% is 35 g x 60. Break 35 into 30 + 5.
gO x60=1800g,5 g x 60 = 300 g,50 35 g x GO
=1gOOg+SOOg=2100g. which is equal to 2.1 kg.

9. 112

her than 2 and 5, all prime numbers end in 1, 3, 7
3:9? Solookat 51, 53?57 and 59. 51 and 57 both
divide by three so they are not prime. The question 5ays
there are two prime numbers in this range. So the only
prime numbers between 50 and GO are 53 and 59,
Add them together to give53+59=112.

10. D

Ais false because 16x30=8x60.
B_isfalse because 15 x 30=30x 1 5,
Cfsfalsebecause 20x25=10 x50>10x%x 1 2.5,
E!sfalggbecause45x 1000 = 450 « 100 < 900 %

- UiStrueas 18 = 9 2,and 48 = 2 24
Canwrite the équationas 9 x 2 24=9 : 2 x’252-.you
1. E

Tre terms inth, ’
2dding 1 3q © Sequence will gy

multiple of 4

be odd, because You're
is even

(Whichis even a
» 80 cannot appearin thig Sequence.

‘lféx . 11 hoyrg
less %n*9911£§h§: a ngu;nbg Multiplied by & gives 3
i iad = =0 = ] Th
Multiplies by8to dveB8is 11 si ?cnly*}n}; fﬂber
MSXPDE1

“\'-::

Test 2 — Pages 5.7 |

1 . (91 4)
Moving 7 Squares to the ri ;

. 9t give.
9. Moving 2 Squares down gi-,e%;fa_ X'Coord;n-.
So the coordinates 4 (2.4), %7 Co0rdingye :ff o
2, D |

None of the options haye the

T. So you're Iooking f—o:'gf Fight

d € opt e
€ decimal pe; Lo
point would be), which i D. point (or Wherg ¢y, "te:
3' A.

NMwhe,.. ..
the 4 ec:i,?a
The angles in 3 ¢

right-angled trig
So the missing a

iangle adg u 180°

O°. It
ngle,lso One of the angiég is3 ,
ngleis 180° - 757 90° 15%3 '
4. 9cm :

Putting the pencils in order givee;

16. So the fourth from thegr‘ighi P?;Sezgzh% 12, 14,
9cm,

5. 14 cm

The three longest encils hay,

and 16 cm. Addinz these gin;e; gtiiilgim o
Dividing 42 cm by 3 T4em (use Par'titziocn:q?;é)
6. A

Half of 5 litres is 5 - 2=25 litres, whic
2500 ml. Subtracting 1600 m| from ¢
2500 -~ 1600 = 900 ml (use partition
column tethod).

7. E
25% of the film is 35

gives

his equal t,,
his gives,
ing or the

minutes, 100,
140 minutes, Th
50 140 ming =

of the film is four

8. 16:10

inutes after this
> + 5 minutes)_

9. 1200 ml
Thisis an extra 6 people, which is an extrg half of the
amount in the rec

ipe. The recipe needs 800 ml tomato
sauce, 50 Tony needs an extra half of this: 800+ 2 =
400 m. Adding this on gives 500 + 400 = 1200 m.

10. 4

The horizontal sides add u
and the vertical sides add
The perimeteris 2 x 50 +
3 x 160 = 480, so Jame
have run over 500 m. So

11. C

4(x + 5) = 44 means that 4 multiplied by a number

gives 44, 4 x 11 = 44, 50 the bit in the brackets is
equalto11. f x+5="11,thenx=6.

12. C

a + b will always be bigger than e, othenylse I’Ehe sidesa
and b won't be long enough to make a tr:alr;gbe- crue

So option A is always true. Option B cou 'eson :

b can't be greater thana + ¢ for the 5@?6'233 ot
that option Ais true. So option C l5'd5[ i ‘G.‘/b .
True. Two lengths added together will a rd)(;
greater than O, so D is true. E could be true.

p togive twolots of 50 m,

up to give two lots of 30 m.
2x30=100+60=160m.
S Needs to do one more lap to
he needs to run 4 laps.

@ CGP 2015
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Test 3 — pages 8-10

1. 9

in the Ficcalili row there are 51/2 squares. So there
were 3 /> x 4 = 14 piccalili sandwiches sold (you
can work this out using partitioning). in the ‘BLT row

thcmare11/45quares.sotthem1‘/4x4=5BLT
sandwiches sold. The differenceis 14 -5=9

2. £30.00 ) .

There are 5 squares in the Ham and cheese row, so
Gerard s0ld 5 x 4 = 20 ham and cheese sandwiches.
Each one gives a profit of £1.80, so he made

£1.50 x 20 = £30 (use partitioning here).

: C
2% =0.04, 3/100 =0.03and 1/20 = 5/100 =0.05.
Option B has a © in the tenths column so it's bigger
than the other four options, which all have a O in the
tenths column. Out of these four options, 0.03 has the

smailest number in the hundredths column, so 3/100 is
the smatlest.

4. B

Thereare 1000 gin 1kg. 50 16.2kg = 16 200 g,
To find the mass of just the sand, subtract the mass of
the bucket. 50 breaks down into 800 + 50.

16200-800 =15 400, 15400-50 = 15 350.
So the sand has amass of 15 350 g.

5 D

Tk.xe cube has side length 2 cm, so on the net, one face

has area 2 x 2 = 4 cm?. There are six identical faces
onacube, sothe totalareais 4 x 6 = 24 cmz.

6. 2:55 pm

Four hours before 7:15 pmis 3:15 pm. 20 minutes
before 3:15 pmis 2:55 pm.

7. A

There are twice as many red balls as blue balls. So for

every blue ball, there are 2 red balls, and so out of every 3
balis, 1is blue. As a fraction, thisis /.

8. 64°

Angles in a quadrilateral add up to 360°. Find the sum
of the angles given: 49° + 31°= 80°. And 216° + 80° =
296°. So the missing angle is 360° - 296° = 64°.

9. 4949
Both parts of the calculation are multiplied by 49.
So you've got “138 lots of 49 minus ‘37 lots of 49,

which gives 138 - 37 = 101 lots of 49, or 101 x 49.
49 x 100 = 4900, and 49 x 1= 49.

5049 x 101 =4900 + 49 = 4949,
10. E

The sequence of the perimeters of the shapes goes:
4,6.8.10, ... So you're adding two each time.

So the first part of the expression is 2n. Shape 1 has a
perimeterof 4. 2n =2 x 1 = 2, 50 you need to add 2 to
get 4. So the expressionis 2n + 2.

11. 190

Using the expression that you've just worked out, put 94
iNto2n+2: 2x94+2=1868+2=190.

M6XPDE1

12.
. Rachel
—~ BI 1/ /
&i —————————————
8 6
S 4
=
0

L nennassoaromsamssoneess

R il

2 4 6 8101214
Dollars ($)
Rachei has more. 50 you can rule out options D and E.
In pounds, Rachel has about £0 50 more. indollars, she
has about $0.60 more. So the answer i5 cption B.

Test 4 — pages 11-13

1. 43 °C

The difference between -25 °C and0°Cis 25°C, and

the difference between O °C and 186°Cis 18°C. Sothe
difference between —25 °C and 186°Cis25+18=43°C,
2. B

The only factors of 27 are 1,3,9 and 27. 3isalsoa
factor of 48, and 9 is not, s0 the answer is option B.

3. 26 cm

Add together all the heights of the plants and divide by
the number of plants. 19+ 254+ 28+ 32 = 104 cm.
104 + 4 =26 cm. (Youcanuse partitioning here.)

4. B

The angles in a quadrilateral add up to 360°.
47 + 133 + 95 = 275° (use the column method).
Subtracting this from 360 gives 360 - 275 = 85°.

5. 36 cm?

This is made of a rectangle and a triangle. The rectangle
has area 3 x 10 = 30 cm2. The base of the triangleis
10-7=3cm,soitsareaic /o x3x4="/,x12=

© cm?. So the total areais 30 + 6 = 36

cmé.
6. B
Use estimation — round 14.68 k

g to 15 kg and round
1024 to 1000. So one full shi

pping container weighs
about 15 x 1000 = 15 000 kg. O

ption Bis the only
option close to this, so the answer is 15 032.32 kg.

- £7.25

10 nails cost 5p, 50 50 nails cost 5 x Sp=25p. A
hammer costs £2.50, so the total costis £2.50 + 25p
=£2.75. Sohis changeis £10 - £2.75 = £7.25.

8. £6.45

A screwdriver and a hammer together cost

£2.50 + £4.50 = £7. 10% of this is 70p, s0 with the
discount this comes to £7 ~ 70p = £6.30. The nails
aren't discounted, 50 30 nails cost 3 x S5p = 15p.

So intotal it costs June £6.30 + 15p = £6.45

9; B

The scale starts at 15, not O. Sothe differenc;e
between each day looks bigger than it actually is.

10. 63 cm?

You can split the whole logo up into
smaller squares, as shown.

There are 7 smaller squares, each
of area 9 cm?, so the total area of
thelogois 7 x 9 =63 cm?.

&9

© CGP 2015



: cm o AW L side
4 the Lapof 1207 length
1. 36 Cam fom el e up O g eude lond
& he AiAs ole 102 = g em'. pa
' U(;m‘,‘!;raﬁhgm "uamu‘g‘.tqyxzzg)' 50
: 5:1’:[ "“,w(ﬁif 183G om
ong 55
nfearhsf\;thgu 4 .
i o AfLer
P C 5 hal® start ‘f’i‘f’h'm,mam
12 x5= 120" nawd. BT en out.
There 3~ bt wave been 7 to
{ o hat and A8, ped LS g maining
| e W
L ST
-1
es 14
i Test > — pas housand — 90 the
& thous:
1 B ver to ThE ﬂfﬂg’gﬁ_ 1000 = 78 000
i " ndeac nu:fl’;vwo*qoo 77 765.28.
Ko:: pecomes © ¢ gl that value 1%
3 by A
l.(r\’rt)flka'c
i The only ™ ‘ ,faf‘lo%.sof"""f
: 9 106 5%16M317 a0
2. 1660+ 1 1%+ 5%=
{ 1%025“2,3 5015%=
60wBo=c""

) The first time i5
B graphis flab 1 hour:

3,{51 has 6%0PP% :’:j%w; she has stopped for

petween hours ¢

ml, s0 10 pints iS
int is 568Um rough. Adding

Hop = 5680 M This isn't gm“ s0the smallest

ives over s
On 032"3?7 % garwns that you need to buy i
num

6. E 1 = & stickers in total. Four of
Mrs Rogers has 4 " g; fraction of stickers that are

square,
thin: ?: :Z which is the same as /2.
N Ly 350cm=35m
100 cmin 1 metre, 50 5m.
gmi::da{fw distanice, add the depthtothe height

i 0.6.
4.6. 4.6 breaks down into 4+ g
gg:4= 75,and75+06= 8.1. Soits&.1m.

48 cm’
%e white space in the middle of Shape 2is sixtimes

i iddle of Shape 1 (you can
bigger than the space in the middle ¢ :
53& it upinto 6 triangles). S0 multiply 8 by &:
Bx6=4Bcm.

9. 16 _
Add up all the test scores and divide by the number of

scores. B+21+22+13=64 64+4=106.

10. 28°
Argies on 3 straight line add up to 180°.

1860°-68°=112°s03x+x=112" andso 4x = 112",

Tofindx. divide 112 by 4 112 « 4 = 28°.

MEXPDE1

11. 12

There are 260° round a point, so yo
many times 28 goes Into 360, Jg
andles can go round a point. Adg on T ant 230’ s
see how many more angles can fi., 2 8Ongle atay, 10
11 angles can go round a point, with o, +28 o Sé‘ne to
308 +28=336.50 12 angles can Oorn Span 8, 50
336 + 28 = 364, which is over 3609 szoljlnzd =
12 le 4is 180°, th St
The angle for 4 is ", the angle f p

angle for 816 30°. So the tota?an;;%)ls 0® any th
is 1860 + ‘90 + 30 = 300°, and the tot, l'ie\/en Nump, e
numbers is 360 = 300 = G0°. The die A angle for TS
times, 50 each rollis represented by 5%'5 rolleg 56°dd
S0 60° represents 80+ 10 =g rolls 0O - 36 100

Puzzles 1 — page 17
Moon, Star, Diamend, Circle

=9

=4

s |
=1 1 +9+4+4’£{
Larry’s Test

If the difference between the hj hest
is 70, then Larry's score must, ge eithznrdz lgwast Mark

or 93 - 70 = 25. If the most comm +70=9,
Larry's score must be 88. If the me;; i:%’ge; 88, then

total for all six tests must be 55 6=3 en the
scores add up t0 329, so Larry's score Must. ;h?l Othep
e,

Test 6 — pages 18-20

1. 1:1
There are 3 quadrilaterals (the squares
non-quadrilaterals, so the ratio i;l 3:3, 3;,}?2:2 1.1

2. B
There are 2 triangles out of a total of sh,
fraction, this is 2/6. which simplifies to 1 /3 .apes, Asa

3. £355
Subtracting £635 from £990 gives a profit of £355
You can use partitioning or the column method here,

4. 710

Divide £355 by £5. 355 breaks down into 350 + 5
350+5=70,5+5=1,90355+5=70+1=71.
71 boxes gives a totalof 71 x 10 = 710 DYDs,

5. D

The three angles in a triangle add up to 180°. Addupthe
two angles you know, and subtract the total from 180",
51°+72°=123° 160°-123°=57",

6. 800 m?

The platformis a 50 m x 20 m rectangle with a

20 m x 10 mrectangle removed. 50 x 20 = 1000 (it's
Jjust 5 x 2 with two zeros on the end)) 20 x 10 =200,
s0 the platform's area is: 1000 - 200 = 800 m?,

© CGP 2015

7. 10

Add up the values you're given: 15 + 15 4 1

+ 4O.PYou can break this into chunks: 15 + 165+=1;o+ 20
16+14=30.50+40=70_ 5Oth01§0tal§5 '
20 + 30+ 70="130. 1in 10 of all the newspapers
were delivered on Thureday. S0 /1 0f the tolal is 14
which means that the totalls 14 x 10 = 140, 50 the
missing valueis 140 - 130 = 10.

8. 50%
He delivered 39 +40 =70 0f the 140 newspapers at
the weekend. /1405 equivalent to '/, which s 50%,

9. 20
The mean is the total number of newspapers delivered
divided by the number of days: 140 4—p7p= 20. "

10. D

The time that she was sitting on the bench ts shown by
the straight horizontal line. The time that she set off
back hore is the point that the horizontal line ends —
this was 75 minutes after she initially set off. 75 = 6O
+ 15, sothisis 1 hour and 15 minutes. She set offat
09:00, and 1 hour and 15 minutes after this is 10:15

11. 53

The difference between the terms increases by 1 each
time. So first you subtract 2, then yousubtract 3, then
you subtract 4 and so on. So the fifth termis

64 -5 =59, and the sixth termis 59 -6 = 53,

12. B
He starts with atotal of S + S'= 2S sweets and gives
away 30. So the number left is 25 - 30,

Test 7 — pages 21-23

1. 840 mm
A heptagon has 7 sides, so the perimeter is
120x7.12x7=84,50 120 x 7 = 40 mm.

2. D

x is greater than a right angle (90, but less than a
straight line (180°), so it's either A or D. x looks like it's
closer to 180° than 90°, so the best estimate is 150°.

3. C

1km=1000m,50 740 m=0.74kmand 120 mis
0.12km. So the total distance he walks is 0.74 + 2.5 +
0.12 = 3.36 km (use the column method here).

4. 18
Reverse the operations. 96+ 8=12. 12 +6 =18,
5. £10.50

10%of £70 = £70 + 10 = £7. 5% is half of this, which
i5£3.50. 50 15%is £7 + £3.50 = £10.50.

6. 300 m?

The container has total volume 10 x 15 x 6 = 10 x 90
=900 m? (yse partitioning or write out the calculation if
you nieed). '/ of this is 900 + 3 = 300 m?.

7. 16

The “Tuna’ sector is 45°, which is half of 90°. The ‘Trout’
sector is half a circle, which is twice 90°. So the 'Trout’
sector is four times as big as the 'Tuna' sector. Four
people said that tuna was their favourite, 50 4 x 4 = 16
people said that trout was their favourite.

M6XPDE1

8. 12

The ‘Mackerel and Haddock’ eectors together are 3 I
times as big as the Tuna’ sector S0 A x4 =12 people
said mackerel or haddock was their favourite.

9. 0

Put 1 = 5 into the formula: 20 - (4 x 5) =20 -20=0.
10. 6

The third highest line was for Jen, who won 6 games.
11. B

Tim and Sue each won 4 games and Kym won 2 games.
Adding these together gives 4 + 4 + 2 = 10 games,
which is the number of games that ice won.

12. E

Ais false because half of 29 is 14.5, which Isn't a whole
riumber of conkers. B is false because if Callum had
collected half as many as Simone, then he would have 1
conker for every 2 of Simone's. So the total would be
exactly divisible by 1 + 2 = 3, but it is not. C and D are
false because an even number plus an even number and an
odd number plus an odd number both give an even number,
but 29is odd. E could be true because Callum could have
collected 15 and Simone could have collected 14, which
would give a total of 29.

Test 8 — pages 24-26
1 C

Depthis a distance, so it can't be ml or m® (which
measure volume), or m? (which measures area). mm are
too small to measure the depth of a well sensibly — youd
be more likely to use mm to measure the depth of a
puddle. A wellis usually several metres deep. so the most
suitable unit is m.

2. 23
Divide 161 by 7. 161 breaksinto 140+ 21. 140~ 7
=20and21+7=3,50161+7=20+3=23.

3. 33

The total number of cheese sandwiches sold was

80 - 35 = 45. 12 of these were on white bread, so the
number of cheese on brown bread was 45 - 12 = 33.

4, C

16 out of 80 peogle chose turkey on brown bread. As
afraction, thisis '%/ap. Dividing the numerator and
denominator by & gives %/, which is the same as '/s.

5. B

After the reflection, the

shape looks like this ——

It has © sides, so it's a hexagon. N

6. 30

/4 of acircle represents 20 + 4 = 5 albums, s0 Jeff has
20+5=25intotal. %/, of acircle represents 3 x 5 =
15 albums, so Noel has 20 + 20 + 15 =55 in total.
55-26=30.

7. 30

Beth has 2/, circles, which is 20 + 20 + 10 = 50
albums. /s of thisis 50 = 5 = 10, and Y/ is

3x 10 =30.

8. 50
Jeff and Beth own 25 + 50 = 75 albums between them.
So Noel now also has 75, giving a grand total ot 75 + 75
= 150. The meanis 150 - 3= 50.
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inutes vansdell
1. 106 mnuieS ., Gandarmivesinva
The bus 123vES Fooitod jwt 50 s 14 mins. 100010
32. O ,,wwﬂ.gzﬁgjzmms.
1400 s 0 MIS. 14+60+32= 106 minutes.

\". xtﬂ; ‘:"5‘)‘9 5 z
f‘\«.‘{lzm’ﬁmmwow?"c"“ S21-
o e sothetotal pumey timeis T4+ < =,
25 mirnites G0 these are the towns you're 100King Tor

3 wOu'ersvhapes.youcanseeWtC

s s campare 110 ; ‘
;ay;orz’btfck mscing (from the base of the shape).

pibe between 90°and 180°. AB,DandE

Ar otuse andie 15

are 235 than 90" (acute) C is the only obtuse argle.
5) B )

* me 20 mm 50 Qem=90 mm. An increase of

OC = will ke 90 - 2 = 45 years.

6. 107°
The sum o the angies in the pie chart is 260°. The sum

£ the argies you B GVEr 5 70 + 77 + 48 +50=253.
& the mesrg 2rgie & 360" - 253" = 107",

7. 72kg

5. 5=9 o 2 kg of hay feeds one horse for one day.
9xB="C a0 72 kg would feed & horses for one day.
8. 15

hok ot TP5-9 125 breaks downinto 90 + 45.
A-9= Cads5+2=59135-9=10+5=15.
50 " 2% g of hay will feed 7 5 horses.

9. B

Tetola e of peovle acked was 2+ 3+ 9410+ 7
+4=73 10 peopie poked the ball marked U

Az a acton thiz s /s Dwnding the numerator and
aenorrator ity S smpities ths Lo /4.

MEXPDET

10. 72°

7 out of A% peaple picked ' Thig 1 /A b

numar‘ator 'imd dﬂnomlr}.ﬂtur by 7 qivﬂﬁ ?/ 'VId‘ng th

AU0° In & pie chart. 80 /s of BGO will g £ 107 arg
r the '

sector 300 breaks down Into 350 E
and10+9°'f3.60500‘+5=70":21-0';)35 *Say
= "-’ = O

11. 3.2kg X

The total helght of the stack is

of 2 boxesis 2 x 15 ecm = 30 crﬁtgj 24“’" heighy,
24 « 3 = 8,60 there are 8 lots of 2 poy, O~+ag,
boxes in total Eachbox has a mass of 85. Which jg 16
total mass of the stackis 16 x 0 2 16‘2 ka. s0 the
16x02=352. Thetotalmassis 3_2 kgx 2= 52,30

12. E
He starts with x, then divides by 2 4

. glvi =
subtracts 15,givingx + 2 - 15, Fln?ai; hg e he
8,giving &(x + 2 - 15). * 1 Multipljeg, by

Test 10 — pages 30-32

" 89p

37 breaksdownIinto 30+ 7. 30 x 3 =
21,9037px3=90p+21p= 111p
200p-111p=89p. '

90 and 7 x
. 3=
So his change iq

2. 106 cm
Thepcrimet&r‘isZx25+2x30=46+60.. 106

- Cm,
3. 117°

Angles in a quadrilateral add up to 360°
downinto80 +1. 53 x80 = ZZO and 3 'ﬁi‘l_bgeaks
S03xH81°=240°+3°=243", =9,
300°-243°=117". o' The remaining angle i

4. B
The most common response is the sector with the
biggest angle. This is 80°, so the answeris 2.

5. 7

There are 360° in the ple chart and 36 people in the
survey. 360 + 36 = 10, s0 each person in the survey
makes up 10° on the graph. The sector for 1 fizzy drink
is 70°, s0 this is 70 + 10 = 7 people.

6. 16

The number of dotsineachtermis 1,4,7,10.. Soit
increases by 3 each time. Inthe S5th term, there will be
10 + 3 = 13, and in the 6Gth there willbe 13 + 3= 16.

y 50s
The highest point on the graﬁh is halfway between 40 s
and 60 s on the time axis. This is 50 seconds.

8. 2°C

From the graph, the temperature after 10 seconds was
4 °C, and the temperature after 20 seconds was 6°C.
So the differenceis 6 °C-4 °C=2°C.

9. E

Alt the times have 1 in the tens column, 50 compare the
units. Tabby has the lowest units value (4). s0 she came
first. Dinah, Pam, Debbie and Moirah all have 5 inthe
units column, s0 compare their tenths columns. Debble
has the lowest tenths value (1), so came second. Farm
has the next lowest (2), so came third.

© CGP 2015
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10. 1.16s
Jabby's was the quickest time (14.97) and Summer's

the slowest
:’dajon 0 0, and going from 15 to 1613 you add on

113

(16.13) Going from 14937 10 15 you

So the difference150.03 + 1.13 = 1.16 seconds

D
1t e-off cost of £150, so the expression will be

There i5 a 0N
150 + s0M¢€
For n days. this will cost 60 x n,or 00On.

So the total costis 150 + o0n.

12. £10 .
The cost with Sandra's Sanders is 150 + 860(4) =

150 + 240 = £390. The cost with Super Sanderz is

thing” Then there s a cost of £60 per day.

60 + 80(4) =60+ 320 = £380. Soitis £10 cheaper

1o use Super Sanderz.

Puzzles 2 — page 33

Blackboard Blues

Adding a vertical line
lus sign: 1 O + 5 =1

to the minus sign will tumit into a

Adding a horizontal line to the second 1in 111 will tum

iinto aplussign: I+1+1 = Fd
Adding a horizontal line before the 2 will turnitinto a

negative: 1 =3 = =2
Adding a horizontal line to the 1 will turnitintoa 7:

T1+7= 14 . _
Adding a diagonal line to one of the + signs will turn it

intoas4 545+5 =550

Drawing Straws
It takes 2 moves to create 4 equilateral triangles:

AVARSYA
A AANAVAY

It takes 2 moves to create 2 equilateral triangles:

JAVAN Z& Z\A
JANNERVANNERAN

It takes & moves to create 1 equilateral triangle:

A
NINVANNAN
KK\

Test 11 — pages 34-36

1. c

There are ten steps from1.2t0 1.3. 1.3-1.2=0.
s0 each stepisworth0.1 + 10=0.01. Toget to
count on 4 steps from 1.2. This brings you to C.

M6XPDE1

1.
24,

2 L C
if Craig turns 20° articiock wise. he will be facing west
He will see the Ferris wheel

Y.
§ s

6 | l
; .

3. £5.20
4 bags cost 4 x £1 20 = £4 8O (use partitioning  you
need). So her change is £16 - £480 = £520

4. 68°
The angles at opposite cormers of a parallelogram are
equal, so angle P = ©8°

5. D

The 3D appearance of the pie chart means that the
‘vanilla’ section locks bigger than the others, because you
can see more of the side of that section

6. 6.3 litres

Becky buys 10 x 330 mi = 3300 mi of lemonade

1 litre = 1000 mi, s0 3300 mi = 3 3 litres. She also
buys 2 x 1.5 = 3 litres of cola. In total, thisis
33+2=03litres.

7 4350
The total number of tickets sold is 1289 + 1455 +
1606 = 4350 (use the column method here).

8. 1200 cm?

The net is for a cube with sides of length 10 cm, s0 each
of the faces is a 10 cm x 10 cm square. The sheet of
cardboard has a length equal to 4 squares and a width
equal to 3. So the cardboard measures 40 cm by 30 cm
— its areais 40 cm x 30 ¢cm = 1200 cm*.

9. C

Imagine the sheet spiit into squares with sides of length
10 cm. There will be 12 aitogether, © of which are used
for the net. Thisis %/, 2. which s equal to Ya.

10. 195
The mean of the 5 numbers is 180. So the sum of the 5

numbers is 5 x 180. 180 breaks into 100 + 80.

5 x 100 = 500 and 5 x 80 = 400, 50 5 x 180 = 200.
155 + 162 + 190 + 198 = 705 (use the columm
method). The missing number s 900 - 705 = 195,

11. E

Alice's age is A. Barney's age is twice Alice's age. 50
Barney's age 1s 2 x A.or 24 Charlene’s age is 4 years
less than Barmey's age, 50 thisis 24~ 4

12. 30
Charlene's age is a third of 78,50 find 78 « 3 Break

78into 60 + 18 60-3=20and 16-3=06.50
Charlene is 20 + 6 = 26 years old. Charlene is 4 years
younger than Barney. so Barmey is 26 + 4 = 30

7 © CGP 2015
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pe :m"’:{;;l't‘.wk; for Shape 2:5hape 1
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3.25k8 04155k 155+17=

- p - KA. S0 3 :
1{};(‘&; \'u;‘gamuming or the column method)

& Ao ndwiches. There were 12
&Taim,az;;; gjﬁfss%asandwiqh &g Cecilia Sw S._ 3
;;:‘ja‘;j ',i,uc:f the aandwiches. /s 0f .1 21; 1 5: 3; 4
) ?‘:aut ate 3. Art ate the rest, which &

lemonade. 25% i5 the same as
4 = 1 litre, leaving 3 litres for
ul drank twice as much as Art,
nd Art must have

7. A

Cecltia drank 25% of the
¥/, 50 she drank 4 1res =
Art and Paul to share. if Fa
then Faul must have drunk 2 litres, a

drunk 1itre.

8. 2 .
There are two lines of symmetry — 1 horizontal and

1 vertical.

9. D o
The rumber of peaple 16 G000 = 750. You can simplify

this division by cancelling down the two numbers, like
simpifying a fraction 6000 ~ 750 = 600 = 75 (divide
by 10) = 200 = 25 {divide by 3).
100+25=4,50200+25=8.

10. C

The poirts on the graph for each week show the total
raised by the end of that week So the total raised
during the fourth weex is the difference between the
tctal at the end of week 4 and the total at the end of
week 3. The graph shows that the amount raised by the
end of week 3 was £1200 and the amount raised by the
end of week 4 was £2000. So the amount raised during
week 4 was £2000 - £1200 = £800.

11. 7 weeks

They raised £600 inthe first week. After 6 weeks of
raing at this rate they would have raised 6 x £600 =
£ U0 which en't gurte enough. After 7 weeks they
wouid have raised 7 x £600 = £4200, which is more
than the target.

MEXPDE1

12. 58

The differences between the firet #

sequence are: 2,4,6,8 The d,ﬁem:i:‘ilmbcrs -

GQCh time, S0 the sixth numbcr will be 8oncmase‘5 by

the seventh number willbe 70 - 15 _ 58.. 10 70 2
=58 ey

Test 13 — pages 40-42

1. 7
From the chart, 13 people said ‘Ape’
Duck. So the difference is 13 - & . 798 people.,,

2. C

You're looking for the next longest

Abigail's and Zora's distanc,esga,.e lf;ttﬁ';o‘l 825,

50 you W?f!t t;f‘ue angest distance oyt of R?e" than thig
Dina. Thisis Lis distance of 18,04 m, Cxei.liang

3. £90

Abigail's distance was the longest, 54

her distance to the nearest metre giv:: ﬁ go"'- Round.'ng
won 1& x £5 = £90 (you can use partitioninrg)' she

4. 10

57 + 6 =9 remainder 3. So Bella will

she'll need a tenth box for the three rfn'q'imng boxes, ang
€dgs.

5. D
Tm= 1000m.505,5m=55ocm. S
over willbe 550 - 75 = 475 cm. This o 4.0

6. £16.20
10%0f£18is £186 + 10 = £1.80.
Sothe sale priceis £18 - £1.80=£16.20,

7. C

The difference between hottest and coldest was
27°C-14°C=13"°C, s0Aien't true. The maximum

27 °C and the minimum was 14 °C, 50 B and E aren't :;Nas
The most common value was 27 °C (it appears twice n:u B
thelist), so Disn't true. In order, the temperatures are.
14°C, 18°C, 24°C, 27 °C. 27 °C. S0 the third-coldest
temperature was 24 °C, and so Cis true.

8. 475 m

The perimeter is the total distance Jenny walked,
2650 m. Take away 2 x the length:
2650m-850m-850m=1800m-850m=
950 m. S0 950 mis 2 x the width, 50 the width of the
fieldis 950 m + 2=475m.

9. B

Start by finding the other unknown angle in the triangle.

Angles on a straight line add up to 180°, so thisangleis
180° - 65° = 115°. Angles in a triangle add up to 180",
50 115° + 30° + x= 180",

S0 145° +x = 180°, and x = 180° - 145°=35".

10. m=9
Bm -7 = 20 means that 20 is 7 less than 5m,s0
3m = 27. The only number that multiplies by 3 to give

2769, 50m = 9.

11. (3, 8)

A rhombus always has lines of symmetry through ;
opposite corners. So K must be the same homzontéa :
distance from (&, 5) and (8, 11) as (13, 8). 13-6=2
s0 the x coordinate of Kis & - 5 = 3. Kmust bethe1 5.6)
same vertical distance from (8,5) and (&, 11 )as (12
is, 50 its y coordinate must also be 8.

gthleft
m.

© CGP 2015
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C
1 2;mwmg aline from K £o (13, 8) you can sse that the
By O U i5 TWO identical triangles joined together So
rho ot the areaof one triangle and double it. The base

wo;‘ko and the height 1S 3. 5o the area of the rhombus 1s
'S,n/zx 10x3=10x3=30.

Test 14 — pages 43-45

4
‘In;u're adfiiing 2 number to 37 tomake 121 here, and the

site of addition is subtraction. So there are

C;PZP,? _37 =84 stickers left for him to collect.

2. 0 ve 5 angles. The angles in a regular

n& ha £
Fe:ttigaon are all obtuse angles (between 90° and 180°)
gz 4 reqular pentagon has ro acute angles.

31
‘:‘?};g two smallest classes are Class 3 and Class 5. On

i ram, Class 3 has 4 circles and Class 5 has
éh?‘f}f'gifn’é%s. Each circle is worth 4 pupils. So Class 3
has 4 x 4 = 16 pupils. The three full c:ércles for Class 5
represent 3 X 4 = 12 pupils, and the */4 of a circle is
another 3 pupils. S0 Class 5 has 12 + 3 = 15 pupils.
So the combined group has 1 6+ 15 =31 pupils.

4, 16

In the pictogram, © circles represent Class 4, so there
;re 4 36 =24 pupils in Class 4 Vx0f24i624+3=8,
s0 24 - & = 16 puplls go on the school trip.

5. B
23 + 5 = 4 remainder 3, 50 the decimal you're looking for
must be '4.something. The only option that begins witha

4 is B, 50 the answer is 4.0.

6. 17:07

Count on 142 minutes from 14:45 in steps. 14:45is
15 mins before 15:00. 142 - 15 =127, s0 the film
ends 127 mins after 15:00. 1 hour = 60 mins, 50

2 hours = 120 mins. So the film ends at:

15:00 + 2 hours + 7 minutes, which is 17:07.

7. A

1 litre = 1000 ml, s0 1.75 litres = 1750 ml. So the
total amount of paint is 1750 + 480 + 710 =

2940 ml (use the column method). This is 2.94 litres.

8. 60 cm®
The volume of the cuboidis Gecm x 4 cm x 2.5 cm.
4 x 2.5 =10, s0 the volume is & x 10 = 60 cm>.

9. A

Imagine the two larger sections each split in half. This
would give 8 sections in total. 3 of these sections would
have a star (the large star section would create two
smaller star sections). So the fraction is /g,

10. 100
She took 400 photos over a period of 4 days. So the
mean number of photos she took was 400 + 4 = 100.

11. 14

Joan took as many photos on day 4 as ondays 1-3 put
together. S0 she took half of all her photos on day 4.
Half of 400 is 200, so she took 200 photos on days
1-3. Ondays 2 and 3 she took 133+ 53 = 186
photos. So onday 1 she took 200 - 166 = 14.

M6XPDE1

12, 71

The number of squares in each pattemis 1.5. 11 19 .
So first you add 4 then 6. then 8, and so on. So the
number of squares added increases by 2 each time.
Sothenext termsare 194+ 10=29.29+ 12 =41,
41+ 14=55ard55+ 16=71.

Test 15 — pages 46-48

1. C

Point F is 3 squares away from the mirror line, 50 its
refiection will also be three saquares away from i€, but on
the other side of the line. This s (-2, 4)

v 8 A

If you subtract from a negative number, it gets further
away from zero on the number line, 50 counting down 9
from -13 gives -22.

3. 210
The total number of seats is
O9x10+8x15=20+120=210

4, 70%
210/ 50 simplifies down to 7%/, 5 (divide both
numbers by 3). which is the same as 70%.

5. 17

There were 60 people in total, and 28 had a ham
sandwich, so 60 - 28 = 32 people had a cheese
sandwich. 15 of those had a banana, 50 32 - 15 =17
people had a cheese sandwich and an apple.

6. B

28 - 8 = 20 people chose a ham sandwich and a banana,
50 15 + 20 = 35 people had a banana. 3%/ 50 simplifies
down to /4, (by dividing the top and bottom of the
fraction by 5).

7. D

The first three options are too small — 500 miis only
about the size of a small bottie of water.

150 000 000 miis 150 00O litres, which would be an
enormous amount for just 4 fish. So the sensible answer
is 150 000 mi, or 150 litres.

8. 4hours

The sport section of the chart is 00°. The full circle is
BGO°. 50 as a fraction, the sport section is ©/xg0 = %16
= '/ of the pie chart. There are 24 hours in a day, o the
number of hours of sport is 24 -~ 6 = 4 hours.

9. D
The faces all have either two or four lines of symmetry.

1,4 and 5 have fourlines: =21 g @] [ . ®]

PO O bt 0 e e

] leha) 8w

2, 3and 6 havetwolines: g .7} [@ .- %
3¢ [

ll ‘ ;’ ‘

So the only pair where both have the same number of
lines of symmetryis D.

10. 11
Check the factors of 66 that are greater than 5 and see

if they're prime. The first one is 6, but this isn't prime.
The next one is 11, which is prime. S0 171 must be the
number he's thinking of.

¢
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fest 16 — pages 50-52

ator needs Lo enteris 9405

i

= 00 =
ﬂcf'amz(‘?ooogin‘lkg,so1,5kg- 15x 10

=190 9.and
15008 700 e 10 = 20 piles of sugar

e $ and divide bry the number of children:

up all the ages o
,;?+75+6+3+5+1=56. 35-0=0

g;ﬂracinq 1wo from each of the grandch(tdrcn‘s ages

g;ve‘.;??,&‘#, 1,1 myoungestwoutdnothavebean

«1q Lhese todether gives 1
?gmmm agewas25+9= 5 years old.

5. 47°
o traiaht line add up to 160" e
£ S O B v i)

B
g:ic gstimating here — round 807 down to 800 and
4026 down to 4000,
Tren 800 x 4000 = 3 200 000. The orly possible
option 58 50 807 x 4096 = 3205472

7. ©,7) ’ ‘
T 5% unts directly above line 5. S0 line L will be 5 units

avove ine S at all times, because they are parallel. So at

the y-axs, 56 a% (0. 2). 5 units above thisis (0, 7).
8. 25a?

The horzonta detance from Ttoline Sis 10 cm.
Tre vertica distance 5 9. S50 the area of the triangle is
/i xi0x5=5x5=25cm

9. 9

Hort vackwuardsvere. 44 ~2=22. 22-4=18,

18 -2=9 900ty started vith the number 9.

10. A

Tre 32 of a3 rectangle s the width multiplied by the
g — 56 Uhe gardens area s x(X + 5). You're told
what thisis 126 v, 50 the equationis x(x + 5) = 126,

MEXPDET

1506x10=15009n

1+8+4+1+1=

10

11. 12
1/, of 240156 240 + 3 =80 50 80 66,1
N(fw work out 15% of £0: 15% = 1 O‘:}ugmla aren't

Y % 10y o0
1680 « 10=8. ,_)Lmhalfoﬂozls()bxofao)zofao
Ba+2=4h 6015'/.0f6()lsa+4.12‘ i3

12. C
1/., of the sweeto are cherry, whichis 5 out of 515

After John has picked and eaten one che
4 out of 24 of the sweets are cherry, Wr"i'gnswcgt.
fraction, */24 18 the same as '/, 9 this a6 ,

Test 17 — pages 53-55

‘ L] C

Hexagons are shapes with six straight .
only option that has six sides, 9t sides, Cis the
2. 3 minutes, 20 seconds

There are 100 cmin 1 m, 50 there are 2

05 cmin 1 m. Soittakes the snail 20836'601:50{
travel 1 m. 1 minute = 60 seconds, so 3 niic S”ds_to
180 seconds, and 50 200 seconds is mfnuﬁfs is
20 seconds. S ang

3. D
The area of a triangle is '/, x base x he|

area of this triangle is '/, x 9x 6. 1, 3’233 50 the
Y, x9x6=3x9=27 cm?,

4. 3

Reading off the graph, you can see that on Fri '
so0ld 11 guitars and Wayne sold 8 guitarg Sr? ?ﬁ Linda
differenceis 11 -8 = 3. e

5. £1854.50

Wayne sold 2 guitars on Monday, and Linda so|4 8
So they sold 2 + & = 10 guitars, each for £1 85 45
Sointotal they took 10 x £185.45 = £1 554.'50 :

6. D

45.9 x 60.20 is the same as 459 x 6626 except ther,
are three digits after the decimal points, e
Taking 3 041 334 and moving the decimal point three
places to the left gives 5041.334.

Zi £2.40

If Louise bought 3 kg made ur of 500 g bags, then she
would need 6 bags. This would cost £1.60 x6 = £9.60
(use the partitioning method). If she bought 3 kg made
up of 1.5 kg bags, then she would need 2 bags.

This would cost £3.60 x 2 = £7.20. The differenceis
£2.60-£7.20=£2.40.

8. C

The perimeteris 3 + 2x — & + 6x. Combining the x terms
gives 2x + Ox = &x. Combining the number terms gives
3-8 =-5. Soit simplifies to &x ~ 5.

9, 16 and 22

To get from one term to the next you add on 1, then 2,
then 3, and so on. So the next term after 11 is

11 + 5 = 16, and the term after thisis 16 + 6 =22.

=3, 50

© CGP 2015

C in turn

10 ough cach 570 5 158, |

2= 15_5oyoucanmbou1'éopmon;\.
can rule out option

100 = 10’%03gw2/3i55x2= 16, 50 you can

80 , _
ides, 50 put 8 into the expression
o 2316 8%5,'( 6 = 1080° (use partitioning).

 you Y '2 il tqeﬁ%n;gzrgfts‘;dggg gcl)ework
:2%;;‘;:’" # ’5.'5'5 'f %o = 10. Adding 2 to 10 gives
12 sides:
Jest 18 — Pages 56-58

3k . .
e b
gggh?sgiffercncc i6235-02=233kg

2. Lo ' k haif the
de + the longer side make up ha
The ghorte;‘éi‘ parallelogram, whichis 62 + 2=31.

grg‘z?lg;gth of the shorter sideis 31 -19=12cm.
- . 256 ml, so th
Use estimating here — a cup holds ml, so there

ut 4 cups in 1 litre (1000 mi). A bathtub holds
?Irgg ,Zfolitres 01E water, which is approximately 200 litres.
S0 you can fill about 4 x 200 = 800 cups from a full
pathtub. The only possible answer is option A— 739,

4. 38 minutes
Break 189.4 into 100 + 80+ 9.4. 100=5 x 20, soit

takes 20 minutes to drain 100 litres. 80 =5 x 16, s0
it takes 16 minutes to drain 80 litres. 9.4 is more than
1 x 5 but less than 2 x 5, so rounding up it takes

2 minutes to drain 9.4 litres. Adding these together
gives 20 + 16 + 2 = 36 minutes.

5. D

60 cmis 75% of the original size. You need to find
100%. s0 first find 25% and then multiply by 4.

75+ 3=25,5025%is 60 + 3 = 20 cm. So the original
painting size (100%) is 20 x 4 = 80 cm.

6. £0.90
V100f £18is £1.80. /015 half of this, whichis
£1.80 + 2 = £0.90 (you can use partitioning here).

L 4

In the rows for Mrs Robinson and Miss McKenzie, there
areatotal of 8/, pictures of CDs, representing 34 CDs.
There is a quarter of a picture of a CD in the row for Miss
EILiot. 60 the number in the key must divide exactly by 4.
8'/3 x4 = 34,50 the answer is 4.

8. 6:20 am

There are 200 houses and the postman delivers to 2
houses per minute, so it takes him 200 + 2 = 100 mins.
Including the break, this gives 100 + 20 = 120 mins,

which is equal to 2 hours. Two hours after 4:20 amis
6:20 am.

M6XPDE1
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9. C

Cf(o}:frc rounding to the nearest. thousandth (the third

wu'm~m the decimai pont | 50 you have to ook at
2 ast dgrt in this number 1t 6 g you round the

thousardihs digrt up to gve 7802 222

10. C

kslgndig to irédaé r; 5 days. 50 Miss Leigh marks
+ + +25+30=2C {
v ) OO0 papers (you can use the

11. 3
Joining the first cross will make 2 triangle Joining the
SeCond cross gives a sauare (a reaular Quadriateral)

The other three crosses make kites, which
e C ; are rreaular
guadriaterals 2

12. 12
Thewtdthns 2x, and the length is twice the width,
ie 2xx 2 = 4x. S0 the perimeter o 2x + 4x + 2x + 4x =

12x. ¥ Joanna paints x m per minute then it wiil take
12 minutes,

Test 19 — pages 59-61

1. E

Thefactorsof 20are 1.2.3.5.6. 10 15 320,

The factorsof 15are 1,3,5, 15 So there are four
factors the same — all of the factors of 15

2. 27 °C

The warmest temperature is 11 °C. and the coldest is
=16 °C. The difference between -16 and Ois 16, and the
difference between O and 11 is 11. So the difference
between-16and 11is 16+ 11=27°C.

X -34.3 °C

You warnt to find 18 3 less than -16. Do this using
partitioning: 18.3 breaksinto 10+ &+ 0.3
-16-10=-26,~26-8=-34,-34-03=-343

4. 100 seconds
Amy takes 25% ionger than 80 seconds. 25% of 80 is
80 + 4 =20. So Amy takes 80 + 20 = 100 seconds.

5. 10 m?
250 cm = 2.5 m. The area is width x length, which is
25x4=10m3

6. C

Round 35.274 to 40. and round 6.35 to 6. So there
are about 40 x © = 240 ounces in a stone. The onty
answer close to thisis 224.

7. 10

The ‘men’ bar for skiing is 7.5 units tall. Each verticat unit
represents 2 people, so thisis 7.5 x 2 = 15 men. The
‘women' bar for skiing is 2.5 units tall. Thisis 25x 2 =

5 women. S0 15 - 5 = 10 more men than women chose
skiing.

8. E

A scalene triangle has no lines of symmetry. An
isosceles triangle and kite each have 1 line of symmetry.
A rectangle has 2 lines of symmetry, and an eguilateral
triangle has 3. So the answer is option E.

9. 56 cm
There are six sides of length 1 cm and ten sides of length
5cm. Sotheperimeteris6x1+10x5=6+50

=506cm.
© CGP 2015




; 515+ 100
1. B 1m501;hgroad15236
There are 100 cmin T M.

1 km, s0 the
re are 1 o000 min
15 > )

i. B.D .agd £ each have 1 tine of symmetry.
C has 4 lines of symmetry.

X oan 17, x 9 x B,s0 the
%&e area of the m‘angugar faceis /2 %

- 2=
volume of the prism is /2x9x5x4-9x5x
ax 10=290¢cm’.

4280 '
3&;'.-3 adding two values which are both the result of

muttiplying something by 21 40 So it'§ ‘1.1 lots of
2140 plus 0.9 lots of 2 140, which gives 25
11+09=_2lotsof 2140. 2 x2140=4280.

00§

%le s!owlgt?me was Andrew's at 4782 5.
The quickest time was Thomass at 26.94s.
Subtract to find the difference:

%%
-28.24

18.865
S0 the difference is 18.88 seconds.

6. 1

Muitiples of 5 between 80 and 1 00 are: 80,65, 90, 95,
100. Try dividing each of these by 6. The only one wfnch
divides exactly is 90 (90 + © = 15). S0 the answeris 1.

7. 10 &4 1

The sector for Comedy'is 60°, and ©/ago = /6.

So '/ of the people asked said Comedy'. 60 people were
asked, and '/ of 60 is 60 + 6 = 10 people.

8. D
30" of the pie chart represents Thriller’. As a fraction,
this is /g0, which is the same as '/, 5.

9. C

You're looking for the formula that The Number Cruncher
uses. Try out each expression and see which one works,
The numbers that go into the Number Cruncher are the
different values of x and the numbers that come out

are the results of the expression. 2x + 7 is the only one
which works for all the numbers, so C is correct.

M6XPDE1
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m_ﬁ Id?'G: 00 prg oo T

- [els ou

20 000 m? N he prwﬁi'}?gg:;ma oF300, 4 4 870 8 g weigh 24 x 30 =720 g (use

field (use cancelling down here). There e 2 Plough t"‘h parm'o"'“ﬁwéoa gves 720+ 150=6704g

hour, 50 60900'8“"9 ls_rbog + 00 = 10 h0ur5 Gn’flhs i an Mht of

starts at 9:00 am. Ten hours afte, this g ;7;0'-5‘30W 5. . for the month with the biagest difference
11. 7:28 pm pm, You'e “’okmhgsghw of the two bars. This is Apnil.

The perimcf.er is 300 + 400 + 500 % 400 Wzr‘l the

There are 2 lots of 50 min 1Oom_and14= m

1OOmln14OOm.sothereare2x14= lotg o =

50 min 1400 m. S0 Gregory finishee o2 1ots
7.00 pm, which s 7:28 pmfv ohes 28 minyyo !

12. E

Try each option as the starting numpe ,
sequence. Foroption A, the sequence i::,ff ; Ke'th's

For option B, the sequence s 0,0,0,0 VTl 5,
For option C, the sequence is 0.5, 0 25
For option D. the sequenceis 1,1,1, 1~
For option E. the sequence is 2,4, 15 '~
Option E is the only sequence where e;a'éh te
than the previous term, so 2 could h tmis

a > dreate
starting number. ve been Ke; r

ths
Puzzles 4 — page 65
The Chess Tournament

The only possible option for the next
Andrew against Mohammed.

game is

Pete’s Pieces of Pizza
E.g. for Pizza 3: ~

Make a table showing the Pizza number and th

number of pieces that can be cut from it: € Maximum
Numberofpieces| 2 | 4 | 7 | 11
~

~—Y% ~—¥%
+2 +3 +4
To find the next number of pieces, you add on one more
than last time. So for Pizza 5 there willbe 11 +5 = 16
pieces, and for Fizza © there willbe 16 + 6 =22 pieces.

Test 21 — pages 66-68

1. 13.5 mm

An equilateral triangle has 3 equal sides. So the
perimeteris 3 x 4.5. 4.5 breaks downinto 4 + 0.5,
I3x4=12,and5x05=15.
503x45=12+15=135mm.

2. D

Add up the prices of all items on the table.

4.00 + 3.20 + .00 + 2.00 + 0.60 = 16.00.

She spends £14, s0 the one item she doesn't buy hae
price £16 - £14 = £2. This is the glove.

3. B

You can make a triangle, A AZV
paralielogram, hexagon

and trapezium, as shown. % @
5o the answer is B — rectangle.

© CGP 2015

A, After noon (12:00). The
?6 3015 443:30” r‘!"l °C every half an hour. so it drops
wrﬂperaf’u r KGT 41/2 hours, the tcmper‘aturc will
2=Cc;;a*;";)'+ 1 =9°C. 9°Clessthan8°Cis~1°C.
drop

C
7. ence is 50, 38,26, 14.2...
Siophan g.ffg\‘jm the number 2.

Go she Wt
125 cm’ . .

8. le shape is 25 cm. Itis 5 squares

The W‘dt'hg ::;iﬁ:\ogth ofggch squareis 25cm = 5=

wide. 50 tghe area of one square is 5 x 5 =25 cm?.

5 cm. 50 3 whole squares and 4 half-aquares.

Tt arew- uares make 2 full squares. This gives a total
e haw 2\43@5. So the total areais 5 x 25 cm?,

f{fé"g", 0,50 5 x 25 i5 100 + 25 = 125.

5o theareais 125 cm?.

= ¢ 4 days |
per of fish for the first 4 days is
e Fyozaén&u%o the total over the S days is
Zé‘ + 2 =30. The mean for this period is 30 ~ 5 = 6.

153@ caug'n; 3,0 fish In the first five days. So the fraction

that were salmon is °/30. which is the same as /.

165 m?
‘avl;k out the area of the base — think ofitasa
10 m x 7 mrectangle with a 5 mx 3 mrectangle
removed. 10 x 7 =70 and 5 x 3=15,s50the
areaof the baseis 70 - 1 5 =55 m2.
Find the volume by multiplying this by the height.
55 breaks down into 50 + 5. 50 x 3 = 150,
5X5=15,5055X5= 150+ 15 = 165m3

12. 2750 kg

The lid has the same area as the base, which is 55 m?,
Each square metre weighs 50 kg, so the total mass of
thelidis 55 x 50.50 x 50 = 2500, 5 x 50 = 250, so
55 x 50 = 2500 + 250 = 2750 kg.

Test 22 — pages 69-71

1. 12:00

Sally will make a cup of tea at: 09:00, 10:30, 12:00...

Jordi makes a cup of tea every hour, so he will also make
one at 12:00.

2. 15

If Jordi makes one cup of tea per hour then he makes 9
cups between 09:00 and 17:00 (at 09:00, 10:00, ...,
17:00). Sally makes 6 cups of tea(at 02:00, 10:30,

12:00,13:30, 15:00, 16:30). So in total they make
9 +6 =15 cups of tea.

3. B

The strip of cloth measures 8.4 cm. 10p per cm would

cost 84p, so 5p per cm is half of this. 84p + 2 = 42p.
Thisis £0.42.

M6XPDE1

4. 19

giz?ﬁfnmwmsu\cmas4t35

ha%foff‘;& 3';? tit:ugm-rwurc wooxing for must be

?»bo £11.88
gishatfabioqmm,ﬁothcrcare'!”b

iNGka 12x99p= 12 , o gl

£11k388 x 99p 2x£ﬁ—12x1px£12—12p=

6. D

1 .

1/O—‘I;“:og‘gots‘io—10:5 S0 there are S ready saited.

& 650°5=10.50Wmare10chcc:,e‘ and

pickie. There are also 10 prawn cocktal Adding these

%p5@m5:,1o+ 10=25 Sothersare 50-25=
roast chicken. So the flavour i

roast chicken. W the most ik

7. B
Find the point halfway between 4 and 5 on

the horizontal
axis, $cad up to the line, then across to the vcffacil
axi5 You end up haifway between 3 and 4 which
Westmorland Dollars. whehe 290
8. 40
First take off the extra 13 that Harriet has:
67 - 13 =54 This number of plaeons is spit equally

between them, so they each have 54 - 2 = 27, Adding
the extra 13 back on gives 27 + 13 = 40

9 C

ABis vertical, so PQ must be horizontal So P and o
must have the same y coordinate The onty option where
P and Q have the same y coordinate is C.

10. D

The 3 angles add up to make a right angle (907).
Soa+2a+b=9Q" Theaand 2a add together Lo give

the expression 3a + b = 90"
11. 36°

a=18"503a=3x 18°=54" Sab+ 54 =90,
S0b=90-54=35",

12, 144°

The whole pie chart is 360° 10% of this is 36°, 50 40%
54 x 36°. 36 breaks into 30° + 6°. 4 x 30° = 120" an
4x0°=24"504x35" =120+ 24° = 144",

Test 23 — pages 72-74

1. 200 503
Two hundred thousand is 200 O00. Five hundred and
threeis 503. Adding these together gives 200 503,

2. c

Use the horizontal lines on the chart to help you compa
the heights. Adding the Bus bar to the ‘Car’ bar will giv
a total height the same as the Bike' bar.

3‘ 1 1

10 bananas cost £0.18 x 10 = £1.80. 11 bananas
cost £1.80 + £0.18 = £1.98. Another banana woulc
take the cost over £2, so he buys 11 bananas.

4, 1320 g
If the mean mass is 120 g, then the total mass is
11 %1209 10x120g=12009,1x 120g=

120 g. So in total the bananas have a mass of
1200 +120=13204.

13 © CGP 20



AV E S e

\

. of the
i about /n
4 t of water m the W'Jk'?;() mil s the beot
Vha A « of the beake? Ho

i ol ¢ - i
. L‘::‘(I:‘fur Lhe dttount of wate
aoli

2 A i@

S 260 mim i 11),(;)_'('.,?L‘()mm

" areact the coc tanale if" e X helght =
Tha drovs L ach trangle 19 72 ha total arca of the
The sra ot € o d e JOmm Go the o
i 4w’ = : g £
. x WImt 3()4“-0-‘1’“"'"

whotle phape i Q20+

21 m“es s 70 mites, 60 hlg? wtfl‘

: Luly dintance wat ¢ 7 x 70.
Hiss man dady ¢ seven days wa
. ; r the ¢ )  he
A,,_@.-uu.ﬁt 4’ .-.v:qz i o}fg L 490 Yoonthe seventh day
"9' - ; P e

drove 490 - JO7 w23 miles.
e 4,10,
o We:tfilwm-:‘t.«mx;aﬁ i 4.6,8. 10,12.1

The scquetit 4 26 12
' 3P 4 o o8 P Y -

. L(:lw 12th ‘rerm, 80 she runs 20 miles in week

s tne te >

% 1 andGare 1,2and 5.
L oes of 10 between 1 an
e ul- ::-z:frfe of these, 50 the fraction ?f faces showing
:;ﬂtft hcm hsA"/@ ,which i the same as /2.
& [ /

cm .
ﬁw;hnle huis two atdes of tenath & cm, two sides of
teagth 3om, and four sides of !engttlb cgl.

gthAom, e
& the perime 2 x D+ 4x

teris 2 xH+ 2
16+3+24= 10 + 30 = 40 cm,

. A
1112»:-5 are < rectangles of area Bx3=24cm’ and4

f O x© scm*. So the total area of
squares of argaox o= 30’6@ . 90
:ﬂ{;w tiles 5 4 x 24 + 4 x 36 In both parts of the
p tying by 4. 50 in total you've got

idigion, you're multip 4.5 9
‘;41%40?= S0 lots ot 4. S0 1t's 00 x‘4= 240 cm-“. Th:
cost of this will be 240 x 10p. which is 2400p, or £24.

! .0 litres
3)275‘7 Emir of red paint + 2 25 litres of yellow paint gives
a tatai of 3 litres of tangerine paint. Fourlots of this
will aive the total of 12 litres that she needs. S0 the
amount of red paint she needs i 4 x 0.75 litres.
075 breaksinto 07+ 005 4x0.7 = 28 and
Ax005=02.604%x075=284+02=23litres.

Test 24 — pages 75-77

1. B
27015 %/, of atumn. ¥/, of a turn clockwise will land the

pointer an the section labelled with the letter B.

3

5
50p = £2.50, 10x 20p = £2. This gives a total of
4 50, 50 the rest is 50p, which is 5 lots of 10p.

£2.00
. of S is 4, 20 Jimi has spent four SO0p pieces.
52 = 200p, which is equal to £2.

C

& mours after 105315 1253 Ancther 7 minutes
takes you to 1300 There are 42 - 7 = 35 minutes of
jourvey time st remaining. So he arrives at 13:.35,

B MG
B ox

x At

#

& b

MEXPDE1
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: s

£ [ higher than £32.75
A ﬂru’i D give the same valya — s\fg';/' ‘;‘3’” Mule out
and /o of L£50 I £40. This 5 5‘60'1“ 5 th Same -
can rule out both A and D, gher tham 2° 17,
17 of £65015 80 » 1 NE o2
10 J6 B0+ 10 = £8 64, Yoy
Thio 18 leos than £32.75, 60 C ig Lh:’fiéﬁ 4xp £7n
West o) 2
6. A SAES Drice
mm, cm and m are all too emali to me.
m’ measures area, not distance, o ASure thig die
sultable out of the options gl + S0kmg the Bil;

7. £18

The total number of cars he wash
5+4+6+7+8 =30, 50 the men S
washed per day was 30 « 5 = Number o¢

he earned was © x £3 = £18, ©. and the m

8. 1

The width of the box is 3 cm, 5o
exactly 1 cube. This leaves 1 cm i Ough to ,
big enough to flt another cube, and i;‘f’cf_!nelgl'|1:, which loslg
which also ien't big enough for another nits length &
So Just 1 cube will fit inside the cube. '

box,
9. 12 cm?
To fit another cube In the width it'4
3 cm wide. To fit one In the length ithj ;ZSZ
extra 1 cmlong. and to fit one in the heightﬁo.be an
be an extra 2 cm high. So if you want the tdhave t,
volume, extend along the length. So thats Nimum ¢
1 x 3 x4 =12cm?volume needed. anextra

10. 37%
The ‘Brown’ section starts at 22% and
The percentage for this section is 599,

11. C
All of the points on this line will have x and
which are negatives of each other.
The only one that doesn't match this is
x and y coordinates are the same.

12. D
There are 2 sides of length 4x and 2 sides of length 2
Sothe perimeteris4x + 4x+ 2 +2=8x+ 4, '

Test 25 — pages 78-80

1 L ] A
90°is 1/, of aturn. Turning the shape '/, of aturn
anticlockwise gives shape A.

2. B
B is the only one which follows the rule:
(2x3)-2=6-2=4and(4x3)-2=12-2=10.

3. £11.00

10 buzz cuts gives 10 x £5.50 = £55. 5 flat tops
gives 5 x £9 = £45. Adding these together gives
£55 + £45 = £100. So £44 came from 4 mohawks.
£44 +4=£11.

4. 60 cm ' y
Each triangle has perimeter 45 cm, 50 has side lengt
45 » 3= 15 cm. The new shape has 4 sides of length
15 cm, 50 has perimeter 4 x 15 = 60 cm.

Ance,

Cars
4N aMoyny

it's wide e,

be an €xtra

ends at 59,
-22%= 37%.

Y coordinates

(2. 2), where the

© CGP 2015

2 ular hexagon with
5. can make @ mag:" ohown. He already

50

C sh pictures show the number of fish
6. ength® of t?frzd _E s0 the Angler's Dream caught
Thf,qhﬂ with eaGF \5h-o-matic caught 12 fish. But the
caﬂéh. and the icture looks 2 lot more than 3 times as big
4 atic p! oam pICture. which makes it seem like it

-0
e Ander® e Than it actually did.
en

7 C 11 ognd‘l‘IOF)wlllroundto‘l‘l’lOto
Of the oﬁ'grfb 1105 Is the smallest of these.
5 g
the naar&

: 5 4 eggs. 50 & pictures represents
? psawf‘ﬂ "“"pmzen? /4 of a picture represents 1 egq, so
4=32000% represeyt the 3 remaining eggs.

X i
g/; of 2 F’fféﬂiga needs 8774 €99 pictures.
o Intotdh

700 ° o °
9 int add up to 360°. The 20°, 40° and
rou:jjuf;oéo 150°, gnd the 2x and x angles add

1 50° = 560’.
up 10 x. 558,5: ; 10° (use partitioning or the column
echo:i;ea 3y =210°. 210+ 3=70,80x=70".
m »

!}gO 5 017’31?1 cge for 5 people means that she uses

4504~5= 90 g per person. S0 for & people, she'll need
px909=7208

1. D
Britain, so the total number of stamps can
are from 5. 1/:5 are f1rom France, so the total
r can be divided by 3, and /4 are from Sweden, so
23: zftal number can be divided by 4.
The only option which divides exactly by 5, 3 and 4 is 60
(60-5= 12.60 + 3 =20,and 60 + 4 = 15).

12. £12.50

You want to divide £371 25by 2.5. £31.25 breaks down

ibo £30 + £1.25. 10+ 2.5=4,90 30 + 2.5 will be
% times this, which is 4x>="12.

1.25is half of 2.50,50 1.25 + 250=05.

S0 £3125+25=£12+£050=£12.50.

Puzzles 5 — page 81

Maths Crossword

TIRTAIPIE[Z] 1 [UIM] - F FIO[UIR
“TAIL{GIEIB{R]A H
3 ot |C [®)
OJCIT[AIGIOIN S of IT PIYIRIAIM I D
B R M {0 1 Bl _|E
TIRHTAINIGILIE Al IR C UL_IN
ul'1s ‘ Gl 1Dl |PIRII{SIM T si o
${ o AlCIUITIEL IR E [®) M
HEE o el vl A G Y t
C AU TAT IR ML [E} INJUIMIEIRIAITIOIRY _IN
NIE Rl IR| IE} IEL 1T A L A
L E E R M U T
PIEICIHIAIRIT] {SICIA[LIEINIE M [e)
S ‘ v PIAIRIA[LILI{E[L] [R
M6XPDE1
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B N -y
Test 26 __ pa
1. 15
You find each termpy Subtract;

™. Sothen Ng 10 o
s > mo
The fifth term s 1 ;nns will be 25, 15, tre previous,

ges 82.84

3. D

Yoor 00 1850

tis approximately 180 000 people
4. 4%
MrsBiggshas‘5+7+7+4+ T+1=

class. 1 pupil has 5 gr 25 pupils in her
: mo i :
i5 /25, which is the same ;,?"‘,?:'ggsor’“:{ l?;a,:on. this

5. B

Adding up the total for ea

3 chb.
Adding up the totals for 3,
5 true. 5 out of 25 pupils

ar gives 25,50 A is true
4 and 5 siblings gives , s0C

' have no siblings, which ;
sameas 1in5,s0Distrue 5+ 7= q ngupalslchaz%)heor

1 siblings, s0 E is true. One pupil has 5 or more siblings,

but you don't know if they h,
Aolr et il €y have exactly 5 or more than 5.

6. B
1.7kg= 1100 g, s0 there are 1100 + 100
2 - =11
100 g. So Audrey needs to cook the chicken ot of
for? 1'1 x5+ 25 =55 + 25 = 80 minutes.
This is equal to 1 hour 20 minutes.

T 2000 ¢

2 hours and 5 minutes is 120 + 5 = 125 minutes. Take
off the initial 25 minutes to give 100 minutes. This is
20 lots of 5 minutes, so the chicken weighs

20 x 100 g = 2000 g.

8. 3600 cm?

Each leg has volume 4 x 4 x 50 = 4 x 200 = 800 cm®.
Four legs have a volume of 4 x 800 = 3200 cm?.

The topis 20x 20 x T =20 x 20=400cm>.

So the total volume is 3200 + 400 = 3600 ¢,

9. £180.00

The total cost is 3600 x 5 p. 3600 x 10 =36 000, s0
3600 x 5 is half of this, whichis 18 000 p.

In pounds this is 18 000 + 100=£180.

10. 44 cm '
When Mark puts together the two 5 cm sides. they don't
make any part of the perimeter of the parallelogram.

So the only sides that count towards the perimeter are
those with lengths 9 cm and 13 cm. So the perimeteris
9+13+9+13=44cm.
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Test 27 — pages 85-87
, ity res, of which 7 have been ahaded.
&,

- 20s ator
ﬂmm'{ are ’ i: ‘;}""‘:{ v zvg_gmplymght{!:gugg‘i

a 3 fraction, thIn B 22 o
;\: %] Aenominator

- ]
2. 105 daYS date. and 25th September
1 2th lune i the carhcirsif’ O days in Juné, 60 there are

112: ';:; U:nd;ﬁ Q?P:ﬁno to the end of June. July and
aay

1 then there are 25 days
% G n have 31 days, 3K -
?nt:) utx:i‘wn of September 1O B.arr{4 5 Zﬁ;t:d.:g o
Gothe difference between Barry and Micks ag
1B 31431 +20=109days

by O ghves” /100 W

T3?Lttotalnumborof9smtai58+6+6+8+ 11 =

i it has no
- . 11=41 Thisisa prime number. (S0
:;:t:v}; ;\;:5 not square), and it isnot 2 factor of 100.

So L s true.

b o { number of
has 6 baas of sweets, so his totai nu

5%2?35?%9:954 Theoﬂqinaleagshadawtalof

6+6+8¢6+11=‘14+16+11 =41 sweets.

So the new baghas 54 - 41 = 13 sweets.

5. E N ,
Yes' sector Is 200° out of 360°_As a fraction,
:hwé ise“z*”/g&\, which is the same as °%/g Dlvwlmgﬁthe
numerator and denominator by 4 simplifies this to /.

. 20
TG'hc angle of the No sector of the pie chartis
360 - 200 = 160" This represents 16 people. 50 in the
pie chart cach personis 160° + 16 = 10" Sothe Yes
sectior represents 200° = 10° = 20 people.

7. 3cm

A cube has six idertical square faces. If the total area of
all these faces is 54 cm-, then each face has an area of
54 -6=9cm’ 9=3x 3 s0thesidelengthis 3 cm.

8. 27
The cube’s volume is equal to length x width x height,
whichisjust 3x3x3=9x3=27cm>

9. D

Moving two sauares 1o the right of (-4, 5) ends upat
{-2.5) Moving diagonally across one square, you could
erdupatoneof (-3,0),(-3,4).(-1,6) or (-1, 4).

5S¢ the anawer is D

10. 69°
In a paraliclogram, there are two pairs of equal angles.

Ali of the angles add up to 360°, so the two different

angies add up to 180° S0 the angle youre
o P AN ngie you re asked to find

MEXPDE1

16

1. C
if the square In the centre has a perimat o
then each side lengthis 20 + 4 = G0, 7
perimetor has 20 0ides, 5018 20 x 5 o 1

12. B

You can sae in the diagram of the stacked Pots

the number of poLs gets multiplied by 3 cm a; dthat
the & cm s added on. 50 the anewer is 3y ;

of 20 .
h(',' outﬂf‘ m'
O0cm

Test 28 — pages 88-90

1. £1.40 5
One pineapple costs 95p. One apple coste 1+
apples cost 3% 15=45p Sointotal Jo:n1 e
95 + 45 = 140p, which is equalto £1 40

2. E
A and C each have 2 lines of symmetry, 5
have 1. E has 3 lines of symmetry, .andBangp €ach

3. A
Writing the value in flgures gives 3025 m,.
1litre = 1000 ml, 50 3025 ml = 3 025 litres

4. 10m

Yolume = length x width x height, so

280 =14 x 2 x height. 14x2 =28 g,
280 = 28 x height, and so0 the height is 10 m

5. 20%
If you bought 4 individual glasses, it wo
4 x £17.50. 17.5 breaks down into 10 + 7+05
4x10=40,4x7=28and4x05=2. =
S04 x£1750=£40+£28+£2=£70 p,
would save you £70 - £56 = £14. As g fracti
saving is 14/75. Dividing the numerator ang
by 7 gives 2/40. which is 20,

/100, 0r 20%.
6. 1.25 kg

The mass of the pumpkin is equal to the difference in the
readings on the two scales. The reading on the first scale
i5 2.5 kg. The reading on the second scale is 1.25

(hatfway between 1 kg and 1.5kg). 1.25is half of 2.5
502.5-125=125kg. '

e 5.00 kg

A jar of peanut butter and a jar of mustard have a
combined mass of 1.25 kg. So 3 jars of each have 2
totalmass of 3 x 1.25 kg. Adding on the pumpkin gives
(3 x 1.25kg) + 1.25 kg, which is the same as
4x1.25kg. 1.25breaksinto 1 +0.25. 4x 1 =4 and
4%x025=1,04%x125=4+1=5Kkg

8 B

Yc;u're looking for the round with the third highest bar.
This is Round 2.

9. A

Bis incorrect because the value for week 3 is greater
than the value for week 1. but on the graph the bar for
week 1 is higher. C and D are incorrect because the
values for week 1 are higher than those for week 2, which
you can see is wrong from the graph. E is incorrect
because the value for week 4 is higher than the value for
week 5, which doesn’t match the graph.

Ais the only set of values which matches the graph.

S0 th
Spends ree

uld cost

¥ing a et
on, this
denominatoy
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vide ~ ‘

’ (”'Zﬁ il ite left over for the
oo/ [c,)an fll 63 pots. with 3 penc

- et G2

0 €
GAthpot

n the graph, but 2 5kmis.

;,;")‘km jo nov 9:0‘”53," = 15 miles. Multiplying both of
fro ‘:jﬂ:ﬁj 10 gives 25 km = 15 miles,

ghese

12 Eﬁx Ay x 2 =OX. Ix-xi57x—~ 1x=6x.

ox+2 ; iify — only one of the terms
128 2 doesn© 9;":5 ,"tﬁz;onfus‘ed with 4x + 2x.)

o

7 o
:\.ﬁélht angle 15 90°

so0 the other angle is: 90° - 83° = 7°.

D ing 2 fr h option and
2. subtracting 2 from each option a
Youcan find U 2y 8 muitiple of 3. 23 -2 = 21,

E’ec'?ﬂ:gqual 1o 7 x 3,80 23 is the correct option.
whic

3 160 y
“sheets of car
% im =10mm, %
contains 80 lots

will have a total thickness of 1 mm.
0 & cm =80 mm. Sothe & cmpile
of 2 sheets: 2 x 850 = 160 sheets.

#};erg are 160 sheets, each of mass 5 grams.

of the plle is 160 x 5. 160 breaks down
Tne 1002l Macs O B 6 = 500, and 60 x 5 = 300, 60
',? goo « 5 =500+ 300 = 800 g. Adding on the mass of
the box gives 800 + 250 = 1050 g.

) .
fﬁoving 8 équarss east (to the right) gives the '
x coordinate 3. Moving 4 squares south (down) gives the
ycoordinate 0. So the new coordinates are (3, 0).

. C
g Is 3 squares to the right of the y-axis, so C will be 3
squares to the left of the y-axis, at (-3, O).

% E
zo, 3 and 15 are factors of 60. Out of these, 10 and
15 are multiples of 5. 10 + 1 = 11, which isn't square.
15+ 1 =16, whichis 4%,50 15 is 1 less than a square
number.

8. 300 g

120 gbreaks down into 80 g + 40 g, and 40 g is half of
80 g, 50 Damian has 17/, times the amount of butter
needed. The total weight of flour and sugar in the original
recipeis 100 g + 100 g = 200 g. So he should use 1/,
lots of 200 g, which is 200 + 100 = 300 4.

9. 72

Damian only has 60/100 =9/, o of the total amount of
sugar he needs, so he will only use ¢/ 10 of the amount of
butter it says in the original recipe. The reclpe uses

80 gofbutter. '/,50f thisis 80 « 10 = 8 g, and /1 is

6x8=48g. He has 120 g of butter altogether, so he
willhave 120 - 48 =72 g left over.

M6XPDE1
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10. E
5% e 7. oG which 15 Lquivalent Lo )26 not 3 5
1. 121

The"a(:(‘ufrlr_p [4
81111 5 1 frﬂ’”"mvm S0 the 11th term

=121
12. D

Efs:ﬁfrf-ﬁ A6mx10m rectangie with a triangle of

pipadih and hfyght 4 mremoved Tng rectangle s areais
=00 m ard the Wangle's areas /., x 7 x 4

S0 the anower 15 60 - 14'= 46 me

Test 30 — pages 94.96

1. 7
The Faint’ sectoris a right an :

‘ . L angle. 50 1t makes up '/, of
the circle So '/, of the people said that pa=r'tupo5 u:osr
favourite. This i 28 - 4 = 7

2. B
25 minutes after 1332081255 10

> 17 minutes
this 151405 Then, breaking down the final h‘:?r;f::-
ahaif into 1 hour + 30 minutes, 7

i hour after 14O
15.05, 2nd 30 minutes after thisis 15 25 =i

3. B

Viewed from above, there wil) be 4 squares across, plus 1
equare below the 4th square from the left. This is B

4. C

Thereare3+5+12=20ne5intatai,ofwmch3+ 12

=15 arenot spotty. As a fraction, this s ' */20. Dwiding
Numerator and denominator by 5 gives U

5. 4:1

Theratiois 12 3. Dividi both sides of this ratioby 3
simplifiesitto 4: 1. k& =

6. C

The reflected shape will look
[ —— a?

So the new coordinates TS

of Pare (11, 4). 2 -“/iC'x
7. 90 0 246810

For every 1 card that Lara has, Elise has 3

Solarahas 1 out of every 4 = '/, of the cards.

/40f 120 = 120 = 4 = 30, 50 Lara has 30 cards, and
Elise has 3 times as many: 3 x 30 = 90.

8. 60%

Rashid has 90 x 2 = 180 cards. Intotal, the 3 of them
have 120 + 180 = 300 cards So Rashid has '%/a,,
of all the cards. Dividing the numerator and denominator
simplifies this to ©/, 0, which is 60%.

9, 24 miles

The mean is the total number of miles divided by the
number of days. Thisis 120 = 5. 120 breaks down into
100+ 20. 100+5=20,and 20+~ 5=4,50
120+5=20+4=24

10. C

Alt of the horizontal sides add up to two lots of I m,
whichis 18 min total. All of the vertical sides add up to
twolotsof y + 2, whichisy+2 +y+ 2 =2y + 4.

So the perimeteric 16+ 2y + 4 =22 + 2y.

y |

|
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The mean is now 10, and there a0 ¢
. i o S r‘(}em .
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Test 31 — pages 97

O + 324, whichis

1 : O
wn into 1200 - hundred

. C
120 324 breaks 40 thousand . plus ‘th

y ( wenty
ne hundred and twent:
;nd twenty four. SoC S correct.

2, et 4m=12m

ite has anargaof S mx 4 m
;?Sfr:;g 5::;}1; m* w0rt.1h of painp Qgt of : total of
45 m-. As a fraction, thisis “/as. [‘)wxa‘i'mg t t}i‘ 0/
numerator and denominator by 1 2 g}:m.p.nﬂes , i5 A
So ahe has used /4 of the tin, and */415 left over.

" 700 | |
:1; hour = 60 minutes, so 1 hour and 20 minutes is

60 + 20 = 80 minutes. George reads 2 pages per
mn;t&sokwh.asmad 2 x 80 = 160 pages during this
time. He has 860 - 160 = 700 pages left to read.

4. C

A square has 4 equal sides, so it will have sides of

number that will square to give more than éf ) Hest
e “

11. he formula:
i Gupstitute n = 3 Mo 1ne ol 8 )
! Tf“::-tjf* () =10~ 12 ==2 previous total, 50 the sixth Number MUSE A3 Lhe
| | 12. 8 i
f 12. 2 ” 2 So4nisa number that ' iolicati 4
. O-dn=2 90 be 8. This Multiplication comes before subtra-y .
; Yyou know that 1 -~ 4n must be &. o e B e A FACLion in & ..

7¢ =49, 50 the smalleot possible Value of

e X ‘{"IE)
Puzzles 6 — page 109
Equal Shapes

E.g.

In each cése, rotating one of the sha i
e
other shape. PES Will give the

Elevenses

29 524 does divide exactly by 11,
212 581 doesn't divide exactly by 11
The only number between 2 165 850 4

45\14=12m Sotheareais 12mx 12m= 144 m2, |

5. 82
22% + 37% = 59%, s0 the percentage of non-fiction

books is 100% -59% = 41%. S0 41 out of every 100
books are non-fiction. Madison has 200 books in total,

5041 x 2 = 82 are non-fiction.

6. 17%
As a fraction, >0 of Madison's books are hardback.

Dwiding the numerator and denominator by 2 simplifies
this to ' /100, whichis 17%.

7 115°
The tnangle is isosceles, so the other angle at the base

of the trangle (inside the triangle) is 65°. Angles on a
straight line add up to 180°, s0a= 180°-65°= 115°.

thatis divisibleby 11is 2 165867

8. 75 minutes

Basketball has 27/, balis and baseball has 17/, balis.

% b.asnet?aﬁ! has twice as many balls as baseball.

b“"'Ofa badreprggents@Oa— 4 =15 minutes,s0 1Y/,
Fisrepresent ©0 + 15 = 75 minutes. Twi

gg«s i5 '55 x 2 = 150 minutes. - R

Henry spent 150 - 75 = 75 i ’
bSKEEbul s e more minutes playing

10. 15

If:-hemeanofthe&')nm“ers'
g meersis 12, then
Sﬁumberbmustbcf}x 12=060. 13+7tixcssrrgzgf=the

20 4 o8
U+ 285 =45 Sothcﬁﬁhmmbcris60-45= 15

MEXFDE1 ;
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